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Topic:­ Physics
1)

Question Stimulus :­

Two stationary sources each emitting waves of wave length  . An observer
moves from one source to other with velocity u.  Then number of beats heared
by him:/ दो 聰☧थर Ąोत ƴेक   तरॠगदॖᄁय की तरॠ गे उ㔿ोज砆त कर रऻे ऻ偀। एक े瀐क u शेग ऺे एक Ąोत ऺे
दॏऺरे Ąोत तक गोत करतॊ ऻॖ, तो उऺे ोकतने ोश᐀瀀  ॏऺनॊई द瀀गे:

Correct Answer :­  

2)

Question Stimulus :­

An electron is moving round the nucleus of a hydrogen atom in a circular orbit
of radius r. The Coulomb force   between the two is:/ एक इलेķ턅 ॊन, एक ऻॊइड턅 ोजन
परमॊणॏ के नॊोभक के चॊरो ॠ ओर एक r ोḀ䜂ॊ की श॑ㄤीय क瀐ॊ म瀀 घॐम रऻॊ ऻॖ। दोनो ॠ के बीच कॐ लॊम बल   ऻॖ:

(Where K =  )/ (जऻॊँ K =  )



Correct Answer :­  

3)

Question Stimulus :­

250 N force is required to raise 75 kg mass from a pulley. If rope is pulled 12 m then
the load is lifted to 3m, the efficiency of pulley system will be:/ 75 kg के ጀ遐मॊन को ोघरनी
ऺे उठॊने के ोलए 250 N के बल की आश퀂कतॊ ऻोती ऻॖ योद भॊर को 3m उठॊने के ोलए रăी को 12 m खी ॠचनॊ
पुतॊ ऻॖ, तो ोघरनी­ोनकॊय की द瀐तॊ ऻोगी:

25%

33.3%

75% 

90%

Correct Answer :­75%  

4)

Question Stimulus :­

A galvanometer of 50 ohm resistance has 25 divisions. A current of 4 × 10–4 ampere
gives a deflection of one division. To convert this galvanometer into a voltmeter
having a range of 25 volts, it should be connected with a resistance of:/ 50 ओम ोतरोध के
एक गॖ䁠ॖनोमीटर पर 25 अॠक अॠोकत ऻ偀। इऺम瀀 4 × 10­4 ऐ⼳ीयर की धॊरॊ एक अॠक कॊ ोशचलन देती ऻॖ। इऺ
गॖ䁠ॖनोमीटर को 25 शो聀 के ऺॊर कॊ शो聀मीटर बनॊने के ोलए ोकतने और ोकऺ कॊर के ोतरोध ऺे जोीनॊ ऻोगॊ:

245 Ω as a shunt/245 Ω  ऺे पॊ븂शब䀐

2550 Ω in series/2550 Ω ऺे ਑ॠखलॊब䀐

2450 Ω in series /2450 Ω ऺे ਑ॠखलॊब䀐

2500 Ω as a shunt/2500 Ω ऺे पॊ븂शब䀐

Correct Answer :­2450 Ω in series /2450 Ω ऺे ਑ॠखलॊब䀐 

5)

Question Stimulus :­

A n­p­n transistor conducts when:/ एक n­p­n ट턅 ॊॠोजƸर म瀀 धॊरॊ शॊोऻत ऻोती ऻॖ जब:



Both collector and emitter are positive with respect to the base/ आधॊर के ऺॊपे瀐
ॠऺᙐॊऻक तथॊ उ㔿ज砆क दोनो ॠ धनॊ쀀क ऻो

Collector is positive and emitter is negative with respect to the base/ आधॊर के ऺॊपे瀐
ॠऺᙐॊऻक धनॊ쀀क ऻो तथॊ उ㔿ज砆क ऋणॊ쀀क ऻो

Collector is positive and emitter is at same potential as the base/ उ㔿ज砆क धनॊ쀀क ऻो
तथॊ आधॊर श उ㔿ज砆क एक ऻी ोशभश पर ऻो ॠ

Both collector and emitter are negative with respect to the base/ आधॊर के ऺॊपे瀐
ॠऺᙐॊऻक तथॊ उ㔿ज砆क दोनो ॠ ऻी ऋणॊ쀀क ऻो ॠ

Correct Answer :­Collector is positive and emitter is negative with respect to the
base/ आधॊर के ऺॊपे瀐  ॠऺᙐॊऻक धनॊ쀀क ऻो तथॊ उ㔿ज砆क ऋणॊ쀀क ऻो 

6)

Question Stimulus :­

A ball rolls without slipping. The radius of gyration of the ball about an axis passing
through its centre of mass is K. If radius of the ball be R, then the fraction of total
energy associated with its rotational energy will be:/ एक ग瀀द ोबनॊ ोफऺले लॏुकती ऻॖ। ጀ遐मॊन
के㈀ ऺे जॊते ᄃए अ瀐 के ोगद砆 ग瀀द की प瀀र欇मण ोḀ䜂ॊ K ऻॖ। योद ग瀀द कॊ अध砆遐ॊऺ R ऻॖ, तब  ॠऺपॐण砆 ऊजॊ砆 कॊ कग़नऺॊ
भॊग उऺकी घॐण砆न ऊजॊ砆 ऺे  ॠऺबॠध ऻोगॊ:

Correct Answer :­  

7)

Question Stimulus :­

A vertical spring with force constant K is fixed on a table. A ball of mass m at a height h above
the free upper end of the spring falls vertically on the spring so that the spring is compressed
by a distance d. The net work done in the process is:/ एक K बल ोनयतॊॠक ऊ㗾砆 聰됀ॠग मेज ऺे खीॊ जोीॊ
जॊतॊ ऻॖ। ጀ遐मॊन m के एक गोले को 聰됀ॠग के मॏ煬 ोऺरे के ठीक ऊपर ऺे ऊॠ चॊई h ऺे ोगरॊने पर 聰됀ॠग d दॐ री ऺे ोपचक जॊतॊ ऻॖ।
इऺ ᔁम म瀀 ᄃआ षॏ䀐 कॊय砆 ऻोगॊ:



Correct Answer :­  

8)

Question Stimulus :­

105 coloumb charge liberated 1 gm silver (Ag). If now charge is doubled then the
amount of liberated Ag will be:/ 105 कॐ लॊम आशेष शॊोऻत करने पर ोऺ䁠र कॊ 1 ᙐॊम अश瀐ेोपत ऻोतॊ ऻॖ
तो दॏगनॊ आशेष शॊोऻत करने पर अश瀐ेोपत ोऺ䁠र ऻोगी:

1 gm/1 ᙐॊम

2 gm/2 ᙐॊम

3 gm/3 ᙐॊम

4 gm/4 ᙐॊम

Correct Answer :­2 gm/2 ᙐॊम 

9)

Question Stimulus :­

For a planet having mass equal to mass of the earth but radius is one fourth of radius of the
earth, Then escape velocity for this planet will be:/ एक ᙐऻ ोजऺकॊ ጀ遐मॊन प॑ᜀी के बरॊबर ऻॖ पर�ॏ उऺकी
ोḀ䜂ॊ प॑ᜀी की ोḀ䜂ॊ की एक चग़थॊई ऻॖ तो ᙐऻ के ोलए पलॊयन शेग ऻोगॊॡ

11.2 km/s

22.4 km/s

5.6 km/s

44.8 km/s

Correct Answer :­22.4 km/s 



10)

Question Stimulus :­

Who evaluated the mass of electron indirectly with help of charge:/ आशेष की ऺऻॊयतॊ ऺे अƴ瀐 ㌯प
ऺे इलेķ턅 ॗन कॊ ጀ遐मॊन ऺबऺे पऻले ोकऺने 腒ॊत ोकयॊ?

Thomson/ थॅॊमऺन

Millikan/ ोमोलकन

Rutherford/ रदरफोड砆

Newton/ ㌯ॐटन

Correct Answer :­Millikan/ ोमोलकन 

11)

Question Stimulus :­

If the tension and diameter of a sonometer wire of fundamental frequency n is doubled
and density is halved then its fundamental frequency will become:/ एक ĉरमॊपी ोजऺकी
मॐल आश॑ोㄤ n ऻॖ, उऺके तॊर कॊ तनॊश श 遐ॊऺ दॏगनॊ कर ोलयॊ जॊये श घनᅝ आधॊ कर ोदयॊ जॊये तो अब आश॑ोㄤ
ऻोगी:

 n

n

Correct Answer :­n 

12)

Question Stimulus :­

A transistor­oscillator using a resonant circuit with an inductor L (of negligible
resistance) and a capacitor C in series produce oscillations of frequency f. If L is
doubled and C is changed to 4C, the frequency will be:/ एक ट턅 ॊॠोजƸर­दोलक म瀀 अनॏनॊदी
प瀀रपथ कॊ योग ोकयॊ गयॊ ऻॖ ोजऺम瀀 ेरक L (ोतरोध मॊन नग㌑) और  ॠऺधॊ瀀रḀ  C को ਑॑ॠखलॊब䀐 जोीॊ
गयॊ ऻॖ। इऺम瀀 आश॑ोㄤ  f के दोलन पॖदॊ ऻोते ऻ偀। योद L को दॏगॏनॊ कर ोदयॊ जॊए और C को 4C म瀀 बदल ोदयॊ
जॊए, तो ॊᙐ आश॑ोㄤ कॊ मॊन ऻो जॊएगॊ:



8f

Correct Answer :­  

13)

Question Stimulus :­

Rainbow is formed due to:/ इ㈀धनॏह बनने कॊ कॊरण ऻॖॡ

Scattering & refraction / कीण砆न तथॊ अपशत砆न

Total internal reflection & dispersion/ पॐण砆 आॠत瀀रक परॊशत砆न तथॊ शण砆 ोश瀐ेपण

Reflection only/ केशल परॊशत砆न

Diffraction and dispersion/ ोशशत砆न तथॊ शण砆 ोश瀐ेपण

Correct Answer :­Total internal reflection & dispersion/ पॐण砆 आॠत瀀रक परॊशत砆न तथॊ शण砆 ोश瀐ेपण

14)

Question Stimulus :­

A monkey of mass 20 kg is holding a vertical rope. The rope will not break when a
mass of 25 kg is suspended from it but will break if the mass exceeds 25 kg. What is
the maximum acceleration with which the monkey can climb up along the rope? (g =
10 m/s2)/ एक ब瀀र, ोजऺकॊ ጀ遐मॊन 20 kg ऻॖ, एक ऊᄁशॊधर लटकती रăी को पकीे ᄃए ऻ偀। योद रăी ऺे 25
kg कॊ भॊर लटकॊयॊ जॊए तो रăी नऻी ॠ टॐ टती, लेोकन भॊर 25 kg ऺे अोधक बुॊने पर रăी टॐ ट जॊएगी। ोकतने
अोधकतम ᅝरण ऺे बॠदर रăी पर चु ऺकतॊ ऻॖ, ोक रăी न टॐ टे (g = 10 m/s2):

5 m/s2

10 m/s2

25 m/s2

2.5 m/s2

Correct Answer :­2.5 m/s2 



15)

Question Stimulus :­

Consider a system of two particles having masses m1 and m2. If the particle of
mass m1 is pushed towards the mass centre of particles through a distance ‘d’,
by what distance would the particle of mass m2 move so as to keep the mass
centre of particles at the original position:/ m1 और m2 ጀ遐मॊनो ॠ के दो कणोॠ के एक
ोनकॊय म瀀 योद ጀ遐मॊन  m1 के कण को ोनकॊय के ጀ遐मॊन के㈀ की ोदषॊ म瀀 d दॐ री तक चलॊयॊ जॊए, तो
कणो ॠ के ጀ遐मॊन के㈀ को मॐल ☧थॊन पर रखने के ोलए ጀ遐मॊन m2 की तय दॐ री ⠀ॊ ऻोगी:

d

Correct Answer :­  

16)

Question Stimulus :­

A sample of radioactive element containing 4 × 1016 active nuclei. Half­life of
element is 10 days, then number of decayed nuclei after 30 days:/ एक रेोडयोए聰ķश
तᅝ की ऺोᔁय नॊोभक  ॠऺ젂ॊ 4 × 1016  ऻॖ, इऺकी अ䀐砆आयॏ 10 ोदन ऻॖ तो 30 ोदन प⼹ॊत तᅝ के
ोशघोटत नॊोभको ॠ की  ॠऺ젂ॊ ऻोगी:

0.5 × 1016

2 × 1016

3.5 × 1016

1 × 1016

Correct Answer :­3.5 × 1016 

17)

Question Stimulus :­

Two waves having equation / दो तरॠगो ॠ की ऺमीकरण ोन㤁 ऻॖ



Two waves having equation / दो तरॠगो ॠ की ऺमीकरण ोन㤁 ऻॖ

If in the resultant wave the frequency and amplitude remains equals to
amplitude of superimposing waves. Then phase difference between them:/ योद
दोनो ॠ तरॠगो ॠ के अॊरोपण ऺे ॊᙐ प瀀रणॊमी तरॠग कॊ आयॊम तथॊ आश॑ोत, अॊरोोपत ऻोने शॊली तरॠगो ॠ के
ऺमॊन ऻॖ, तो उनके म कलॊ�र ऻोगॊ:

Correct Answer :­  

18)

Question Stimulus :­

adiabatically. If the ratio of specific heats of this gas at constant pressure and

at constant volume is  , the final temperature of gas will be:/聰☧थर दॊब तथॊ 聰☧थर

आयतन पर ोशोष꤀ ऊ┃ॊओॠ के    अनॏपॊत शॊली एक आदष砆 गॖऺ कॊ एक मोल ㌯䀐ो┃ रीोत ऺे 6R जॐल कॊय砆
करतॊ ऻॖ। योद गॖऺ कॊ आर聰ᄐक तॊप T K ऻो, तो इऺकॊ अ聰�म तॊप ऻोगॊ:

(T – 2.4) K

(T + 4) K

(T – 4) K

(T + 2.4) K

Correct Answer :­(T – 4) K 

19)

Question Stimulus :­

A block of mass m is placed on a smooth wedge of inclination θ. The whole



system is accelerated horizontally so that the block does not slip on the wedge.
The force exerted by the wedge on the block (g is acceleration due to gravity)
will be:/ m ጀ遐मॊन के एक ꐂॊक को नोतकोण θ के एक ोचकनी ऺतऻ पर 聰☧थत ोकयॊ गयॊ ऻॖ।  इऺ पॐण砆
ोनकॊय को 瀐ॖोतज ोदषॊ म瀀 इऺ  कॊर ᅝ瀀रत ोकयॊ गयॊ ऻॖ ोक ꐂॊक ऺतऻ ऺे न 聰खऺके। ऺतऻ के ꐂॊक पर
ोᔁयॊकॊरी बल कॊ मॊन ऻोगॊ (g गॏ㌯ᅝीय ᅝरण ऻॖ)

Correct Answer :­  

20)

Question Stimulus :­

Reverse bias applied to a junction diode:/ एक जॠ䁀न डॊयोड म瀀 प⼹ अोभनोत लगॊने ऺे:

Lowers the potential barrier/ ोशभश रोध कम ऻोतॊ ऻॖ

Raises the potential barrier/ ोशभश रोध अोधक ऻोतॊ ऻॖ

Increases the majority carrier current / बᄃ ॠऺ젂क शॊऻक धॊरॊ बुती ऻॖ

Increases the minority carrier current/ अᄐ ॠऺ젂क शॊऻक धॊरॊ बुती ऻॖ

Correct Answer :­Raises the potential barrier/ ोशभश रोध अोधक ऻोतॊ ऻॖ 

21)

Question Stimulus :­

The potential energy of a simple harmonic oscillator when the particle is half way to its
end point is:/ एक ऺरल आशत५ दोलक की 聰☧थोतज ऊजॊ砆, जबोक कण अपने अ聰�म ोब̢दॏ  ऺे आधी दॐ री पर ऻॖ,
ऻोगी:



Correct Answer :­  

22)

Question Stimulus :­

An object of mass 3kg is at rest. Now a force of   = 6t2 + 4t   is applied on the
object then velocity of object at t = 3 second is:/ एक 3Kg ጀ遐मॊन की शĦॏ 聰☧थरॊश☧थॊ
म瀀 ऻॖ, इऺ पर एक बल    = 6t2 + 4t   कॊय砆रत ऻोतॊ ऻॖ तो t = 3s पर कण के शेग कॊ मॊन ऻॖ:

18   + 3

18  + 6

3  + 18

18  + 4

Correct Answer :­18  + 6  

23)

Question Stimulus :­

The current (I) in the circuit will be:/प瀀रपथ म瀀 धॊरॊ ‘I’ कॊ मॊन 腒ॊत क瀀रए:



Correct Answer :­  

24)

Question Stimulus :­

According to Curie's law, the magnetic susceptibility of a substance at an absolute temperature
T is proportional to:/ ⠀ॐरी के ोनयम के अनॏऺॊर परम तॊप T पर ोकऺी पदॊथ砆 की चॏᐁकीय शणतॊ ोकऺके ऺमॊनॏपॊती
ऻोती ऻॖ?

T

T2

Correct Answer :­  

25)

Question Stimulus :­

If the cold junction of a thermo­couple is kept at 0°C and the hot junction is kept at T
°C, then the relation between neutral temperature (Tn) and temperature of inversion
(Ti) is:/ योद ोकऺी ऊ┃ीय यॏ㌖ के ठॠ डे जोी को 0°C पर और गरम जोी को T°C पर रखॊ जॊये तो इऺ यॏ㌖ के
ोलये उदॊऺीन तॊप (Tn); और ोतलोमन (इनशष砆न) तॊप (Ti) कॊ पर᐀र ऺᐁ偀 ऻोगॊ:

Tn = Ti + T

Tn = 

Tn = 2Ti

Tn = Ti – T

Correct Answer :­Tn =   

26)

Question Stimulus :­

Two coil have a mutual inductance 0.005 H. The current changes in first coil
according to equation I = I0 sin  t where I0 = 2A and   = 100  rad/sec. The
maximum value of emf in second coil is:/ योद दो कॏ ሳोलयो ॠ कॊ अ㌯ोन ेरकᅝ 0.005 ऻॖ,



maximum value of emf in second coil is:/ योद दो कॏ ሳोलयो ॠ कॊ अ㌯ोन ेरकᅝ 0.005 ऻॖ,
थम कॏॠ डली म瀀 धॊरॊ प瀀रशत砆न ऺमीकरण I = I0 sin  t जऻॊँ  I0 = 2A  तथॊ   = 100   रेोडयन/
ऺेकሳ ㌑ॊरॊ ोकयॊ जॊतॊ ऻॖ, तो ㌑तीय कॏॠ डली म瀀 ोशद्यॏ त शॊऻक बल कॊ अोधकतम मॊन ऻोगॊ:

Correct Answer :­  

27)

Question Stimulus :­

A coil of one loop is made from a wire of length L and there after a coil of two loops is
made from same wire, then the ratio of magnetic field at the centre of coils will be:/ L
लᐁॊई के तॊर ऺे एक लॐप की कॏ ሳली बनॊई तथॊ इऺके बॊद म瀀 इऺी तॊर ऺे 2 लॐप की कॏ ሳली बनॊई तो के㈀ पर
चॏᐁकीय 瀐ेḀ कॊ अनॏपॊत ऻोगॊ:

1 : 4

1 : 1

1 : 8

4 : 1

Correct Answer :­1 : 4 

28)

Question Stimulus :­

Two  particles  separated  at  a  horizontal  distance  X  as  shown  in  fig.  they
projected  at  the  same  line  as  shown  in  fig. with  different  initial  speeds.  The
time after which the Horizontal distance between them become zero:/X 瀐ॖोतज दॐ री
अ�रॊल ऺे दो कणोॠ को  ोचḀॊनॏऺॊर  ोभp­ोभp ॊर聰ᄐक  शेग  ऺे 瀐ेोपत  ोकयॊ गयॊ  ऻॖ।  ोकतने ऺमय प⼹ॊत
उनके म 瀐ॖोतज दॐ री षॐ㌯ ऻोगी:

 



None of these/इनम瀀 ऺे कोई नऻी ॠ

Correct Answer :­  

29)

Question Stimulus :­

If a ball is thrown vertically upwards with speed u, the distance covered during the last ‘t’
seconds of its ascent is:/ योद एक ग瀀द को ऊ㗾ॊ砆धर ोदषॊ म瀀 ऊपर की ओर u चॊल ऺे फ瀀 कॊ जॊतॊ ऻॖ, तब अोधकतम
ऊँचॊई पर पᄃँचने ऺे पऻले अ聰�म t ऺेकሳोॠ म瀀 चली गई दॐ री ऻोगी:

ut

gt2

ut –   gt2

(u + gt)t

Correct Answer :­ gt2 

30)

Question Stimulus :­

Fuse wire is a wire of:/ 挄ॐज तॊर शऻ तॊर ऻॖ, ोजऺकॊ ऻोतॊ ऻॖ:

High resistance and high melting point/ उだ ोतरोध और उだ गलनॊॠक

High resistance and low melting point/ उだ ोतरोध और ोन㤁 गलनॊॠक

Low resistance and low melting point/ ोन㤁 ोतरोध और ोन㤁 गलनॊॠक

Low resistance and hight melting point/ ोन㤁 ोतरोध और उだ गलनॊॠक

Correct Answer :­High resistance and low melting point/ उだ ोतरोध और ोन㤁 गलनॊॠक 

31)



Question Stimulus :­

The velocity of electromagnetic wave is parallel to:/ ोशद्यॏ त चॏᐁकीय तरॠग कॊ शेग ोन㤁 के
ऺमॊ�र ऻोतॊ ऻॖ:

Correct Answer :­  

32)

Question Stimulus :­

A scientist says that the efficiency of his heat engine which work at source temperature 127°C
and sink temperature 27° C is 26%, then:/ एक शॖ腒ॊोनक कऻतॊ ऻॖ ोक उऺकॊ ऊ┃ीय इॠजन 127°C Ąोत श
27°C ो ॠऺक तॊपमॊन के बीच कॊय砆 करतॊ ऻॖ, योद इॠजन की द瀐तॊ 26% ऻॖ, तो:

It is impossible/ यऻ अ ॠऺभश ऻॖ

It is possible but less probable/ यऻ  ॠऺभश ऻॖ पर कम  ॠऺभॊशनॊ ऻॖ

It is quite probable/ यऻ लगभग  ॠऺभश ऻॖ

Data are incomplete/ आॠकीे पयॊ砆ᙐ नऻी ॠ ऻ偀

Correct Answer :­It is impossible/ यऻ अ ॠऺभश ऻॖ 

33)

Question Stimulus :­

Given Truth table is correct for:/ दी गई ऺƴ ऺॊरणी ोकऺ के ोलए ऺऻी ऻॖॡ

NAND

AND



NOR

OR

Correct Answer :­AND 

34)

Question Stimulus :­

The speed of a boat is 5 km/hr in still water. It crosses a river of width 1 km along the
shortest possible path in 15 minutes. The velocity of river water is:/ एक नॊश ोजऺकी षॊॠत
जल म瀀 चॊल 5 km/hr ऻॖ। 1 km चॖॊीी नदी को कम ऺे कम दॐ री के रॊĦे ऺे 15 ोमनट म瀀 पॊर करती ऻॖ, तो नदी म瀀
पॊनी की चॊल ऻोगी:­

3 km/hr

4 km/hr

5 km/hr

2 km/hr

Correct Answer :­3 km/hr 

35)

Question Stimulus :­

A charge q is placed in an uniform electric field E. If it is released, then the K.E. of the
charge after travelling distance y will be:/ ऺम㌯प ोशद्यॏ त 瀐ेḀ E म瀀 q आशेष 聰☧थर रखॊ ऻॖ योद उऺे
छोी ोदयॊ जॊए तो y दॐ री तय करने पर उऺे ॊᙐ गोतज ऊजॊ砆 ऻोगी:

Correct Answer :­  

36)

Question Stimulus :­

The terminal potential difference of a cell is greater than its emf when:/ ऺेल के ोलए टोम砆नल
शो聀तॊ इऺके ोश. शॊ. बल ऺे अोधक ऻॖ जब:



A battery of less emf is connected in its series/ एक कम ोश. शॊ. बल की बॖटरी इऺके ਑ेणी म瀀
जोी दे

A battery of higher emf is connected in its series/ एक उだ ोश. शॊ. बल की बॖटरी इऺके ਑ेणी
म瀀 जोी दे

A battery of higher emf is connected in its parallel/ एक उだ ोश. शॊ. बल की बॖटरी इऺके
ऺमॊ�र म瀀 जोी दे

A battery of less emf is connected in its parallel/ एक कम ोश. शॊ. बल की बॖटरी इऺके
ऺमॊ�र म瀀 जोी दे

Correct Answer :­A battery of higher emf is connected in its parallel/ एक उだ ोश. शॊ. बल
की बॖटरी इऺके ऺमॊ�र म瀀 जोी दे 

37)

Question Stimulus :­

A car is moving towards a high cliff. The car driver sounds a horn of frequency
‘f’. The reflected sound heard by the driver has a frequency 2f. If ‘v’ be the
velocity of sound then the velocity of the car, in the same velocity units, will
be:/ एक मोटर गॊीी एक ऊँची पऻॊीी की ोदषॊ म瀀 चल रऻी ऻॖ। मोटर चॊलक f आश॑ोㄤ कॊ ऻॊन砆 बजॊतॊ ऻॖ। 
चॊलक परॊशोत砆त 2f आश॑ोㄤ की 㗾ोन  ॏऺनतॊ ऻॖ। योद 㗾ोन शेग मॊḀक v ऻो तो इी शेग ऺमॊन मॊḀको ॠ म瀀 कॊर
कॊ शेग ऻोगॊ:

Correct Answer :­  

38)

Question Stimulus :­

A particle executes simple harmonic oscillation with an amplitude 'a'. The period of
oscillation is T. The minimum time taken by the particle to travel half of the amplitude
from the equilibrium position is:/ एक कण आयॊम a के ऺॊथ ऺरल आशत५ दोलन करतॊ ऻॖ। इऺकॊ दोलन
कॊल अ�रॊल T ऻॖ। इऺ कण को अपनी ऺॊ뿾 अश☧थॊ ऺे आयॊम की आधी दॐ री चलने म瀀 लगने शॊलॊ कम ऺे कम ऺमय
ऻोगॊ:



Correct Answer :­  

39)

Question Stimulus :­

For a black body at temperature 727°C, its radiating power is 60 watt and temperature
of surrounding is 227°C. If temperature of black body is changed to 1227°C then its
radiating power will be:/ 727°C पर क॑聰ˁकॊ शĦॏ के ोलये ोशोकरण ष聰煬 60 शॊट ऻॖ एशॠ शॊतॊशरण कॊ तॊप
227°C ऻॖ। योद क॑聰ˁकॊ शĦॏ कॊ तॊप प瀀रशोत砆त कर 1227° C कर ोदयॊ जॊये तो इऺकी ोशोक瀀रत ष聰煬 ऻोगी:

304 W

320 W

240 W

120 W

Correct Answer :­320 W 

40)

Question Stimulus :­

Work function of a metal surface is   = 1.5eV. If a light of wavelength 5000Å
falls on it then the maximum KE of ejected electron will be:/ ोकऺी धॊतॏप॑ʿ कॊ
कॊय砆फलन    = 1.5eV ऻॖ, इऺ पर 5000Å तरॠगदॖ砆 कॊ कॊष ोगरॊने पर उ㔿ोज砆त इलेķ턅 ॊन की
अोधकतम गोतज ऊजॊ砆 ऻोगीॡ

1.2 eV

0.98 eV

0.45 eV

0 eV



Correct Answer :­0.98 eV 

41)

Question Stimulus :­

When  a  stick  is  released  (as  shown  in  figure),  its  free  end  velocity  when  it
strikes the ground is:/ ोचḀॊनॏऺॊर जब एक छी को मॏ煬  ोकयॊ जॊतॊ  ऻॖ (ोचḀ  मे दषॊ砆ये अनॏऺॊर),
इऺके मॏ煬 ोऺरे कॊ शेग जब यऻ ऺतऻ ऺे टकरॊती ऻॖ, ऻोगॊ:

4.2 m/s

1.4 m/s

2.8 m/s

 m/s

Correct Answer :­4.2 m/s 

42)

Question Stimulus :­

The total energy of an electron is 3.555 MeV, then its Kinetic energy is:/ एक इलेķ턅 ॊन की
कॏ ल ऊजॊ砆 3.555 MeV ऻॖ, तो इलेķ턅 ॊन की गोतज ऊजॊ砆 ऻॖ:

3.545 MeV

3.045 MeV

3.5 MeV

None of these/ इनम瀀 ऺे कोई नऻी ॠ

Correct Answer :­3.045 MeV 

43)

Question Stimulus :­

Biological importance of Ozone layer is:/ ओजोन परत की जॖोशक उपयोोगतॊ ऻॖ:



Ozone layer stops ultraviolet rays/ ओजोन परत परॊब偀गनी ोकरणो ॠ को रोकती ऻ偀

Ozone layer reduces green­house effect/ ओजोन परत ᙐीन ऻॊऊऺ भॊश को कम करती ऻॖ

Ozone layer reflects radio waves/ओजोन परत रेोडयो तरॠगो ॠ को परॊशोत砆त करती ऻॖ

Ozone layer controls   ratio in atmosphere/ओजोन परत शॊतॊशरण म瀀 
 अनॏपॊत पर ोनयၐण रखती ऻ偀

Correct Answer :­Ozone layer stops ultraviolet rays/ ओजोन परत परॊब偀गनी ोकरणो ॠ को रोकती ऻ偀

44)

Question Stimulus :­

The energy and capacity of a charged parallel plate capacitor are E and C
respectively. Now a dielective slab of   = 6 is inserted in it then energy and
capacity becomes (Assuming charge on plates remains constant):/ एक आशेोषत
ऺमॊ�र प5  ॠऺधॊ瀀रḀ की धॊ瀀रतॊ एशॠ ोशद्यॏ त 瀐ेḀ ᔁमषॡ C एशॠ E ऻॖ अब योद पो5कॊओॠ के म एक   = 6
की परॊशॖद्यॏ त पो5कॊ रख द瀀 तो ोशद्यॏ त 瀐ेḀ एशॠ धॊ瀀रतॊ ऻो जॊएगी (̀ेटो ॠ पर आशेष ोनयत मॊन लीोजए)

6E, 6C

E, C

, 6C

E, 6C

Correct Answer :­ , 6C 

45)

Question Stimulus :­

For a Rocket propulsion velocity of exhaust gases relative to rocket is 2 km/s. If mass
of rocket system is 1000 kg, then the rate of fuel consumption for a rocket to rise up
with acceleration 4.9 m/s2 will be: ोकऺी रॊकेट नोदन के ोलए ोनӬॊोऺत गॖऺो ॠ कॊ रॊकेट के ऺॊपे瀐 शेग 2
km/s ऻॖ योद रॊकेट ोनकॊय कॊ ጀ遐मॊन 1000 kg ऻो, तो रॊकेट को 4.9 m/s2 के ᅝरण ऺे ऊपर उठॊने के ोलए
ईॠधन खपत की दर ऻोगी:

12.25 kg/s

17.5 kg/s

7.35 kg/s



5.2 kg/s

Correct Answer :­7.35 kg/s 

46)

Question Stimulus :­

For the given reaction, the particle X is/ ोदए ᄃई ऺमीकरण के ोलए कण X ऻोगॊॡ­

Neutron/ ㌯ॐट턅 ॊन

Anti­neutrino/ए脐ी㌯ॐट턅 ीनो

Neutrino/㌯ॐट턅 ीनो

Proton/ोटोन

Correct Answer :­Neutrino/㌯ॐट턅 ीनो 

47)

Question Stimulus :­

The mass number of a nucleus is:/ एक नॊोभक की ጀ遐मॊन  ॠऺ젂ॊ ऻॖ:

Always less than its atomic number/ इऺकी परमॊणॏ  ॠऺ젂ॊ ऺे ऻमेषॊ कम

Always more than its atomic number/ इऺकी परमॊणॏ  ॠऺ젂ॊ ऺे ऻमेषॊ अोधक

Sometimes equal to its atomic number/ कभी­कभी इऺकी परमॊणॏ  ॠऺ젂ॊ के बरॊबर

Sometimes less than and sometimes more than its atomic number/ इऺकी परमॊणॏ
ॠऺ젂ॊ ऺे कभी कम और कभी अोधक

Correct Answer :­Sometimes equal to its atomic number/ कभी­कभी इऺकी परमॊणॏ  ॠऺ젂ॊ के
बरॊबर 

48)

Question Stimulus :­

A bubble in glass slab (μ = 1.5) when viewed from one side appears at 5 cm
and 2cm from other side, then thickness of slab is:/ एक बॏलबॏले को कॊँच पो5कॊ (μ =
1.5)  म瀀 देखने पर एक तरफ ऺे 5 cm तथॊ दॐ ऺरी तरफ ऺे 2 cm दॐ री पर ोदखॊई देतॊ ऻॖ तो पो5कॊ की
मोटॊई ऻोगीॡ

3.75 cm



3 cm

10.5 cm

2.5 cm

Correct Answer :­10.5 cm 

49)

Question Stimulus :­

The core of a transformer is laminated because:/ एक ट턅 ॊॠऺफॊम砆र (प瀀रणॊोमḀ) के ᔁोड (भीतरी भॊग) को
परतदॊर बनॊयॊ जॊतॊ ऻॖ ⠀ोॠोक इऺ कॊर:

Energy losses due to eddy currents may be minimised/ भॠशर धॊरॊओॠ के कॊरण ऊजॊ砆 के
℁ॊऺो ॠ को कम ोकयॊ जॊ ऺकतॊ ऻॖ

The weight of the transformer may be reduced/ ट턅 ॊॠऺफॊम砆र के भॊर को कम ोकयॊ जॊ ऺकतॊ ऻॖ

Rusting of the core may be prevented/ ᔁोड को जॠग लगने ऺे बचॊयॊ जॊ ऺकतॊ ऻॖ

Ratio of voltage in primary and secondary may be increased/ ॊइमरी और ऺॖकሳरी
कॏ ሳोलयो ॠ की शो聀तॊओॠ कॊ अनॏपॊत बुॊयॊ जॊ ऺकतॊ ऻॖ

Correct Answer :­Energy losses due to eddy currents may be minimised/ भॠशर धॊरॊओॠ के
कॊरण ऊजॊ砆 के ℁ॊऺो ॠ को कम ोकयॊ जॊ ऺकतॊ ऻॖ 

50)

Question Stimulus :­

A bulb is located on a wall. Its image is to be obtained on a parallel wall with
the help of convex lens. If the distance between parallel walls is 'd'  then
required focal length of lens placed in between the walls is:/ एक दीशॊर पर 聰☧थत ब
कॊ ोतोबᐁ, एक ऺमॊ�र दॐ ऺरी दीशॊर पर ॊᙐ करने के ोलए उㄤल ले℁ यॏ煬 ोकयॊ जॊतॊ ऻॖ। योद
ऺमॊनॊ�र दीशॊरो ॠ के म दॐ री d  ऻो तो दोनो ॠ के बीच म瀀 聰☧थत ले℁ की आश퀂क फोकऺ दॐ री ऻोगी:

Only  / केशल  

Only  /केशल 

More than   but less than  /    ऺे अोधक लेोकन    ऺे कम

Less than or equal to  /   के बरॊबर यॊ   ऺे कम

Correct Answer :­Less than or equal to  /   के बरॊबर यॊ   ऺे कम 



Topic:­ Chemistry
1)

Question Stimulus :­

100 ml,     NH4OH is mixed with 100 ml,   HCl. Then find out the pH of resulting

solution while Kb = 10–5:/ 100 ml,    NH4OH को 100 ml,    HCl म瀀 ोमलॊयॊ जॊतॊ ऻॖ,
परीणॊमी ोशलयन कॊ pH 腒ॊत कीोजऐ:

(जबोक Kb = 10–5 ऻॖ)

4

5

9

6

Correct Answer :­5 

2)

Question Stimulus :­

The number of chiral centres in the open chain structure of fructose is:/ ᜋķोऺ की खॏली
਑॑ॠखलॊ  ॠऺरचनॊ म瀀 ोकरेल के㈀ो ॠ की  ॠऺ젂ॊ ऻॖ:

5

4

3

2

Correct Answer :­3 

3)

Question Stimulus :­

Which is most basic compound:/ कग़न अोधकतम 瀐ॊरीय यग़ोगक ऻॖ



CH3CH2NH2

Correct Answer :­  

4)

Question Stimulus :­

Which gives only a single allylic bromide on heating with NBS:/ ोन㤁 म瀀 ऺे कग़न NBS के ऺॊथ
गम砆 करने पर केशल एक ऐोलोलक ᠙ोमॊइड बनॊतॊ ऻॖ;

Correct Answer :­  

5)

Question Stimulus :­

Ethylene dichloride and ethylidene dichloride are:/एोथलीन डॊईोरॊइड तथॊ एोथोलडीन
डॊईोरॊइड ऻॖ:

Geometrical isomers/䜂ॊोमतीय ऺमॊशयशी



Chain isomers/਑॑ॠखलॊ ऺमॊशयशी

Position isomers/聰☧थोत ऺमॊशयशी

Not isomers/ऺमॊशयशी नऻी ॠ ऻॖ

Correct Answer :­Position isomers/聰☧थोत ऺमॊशयशी 

6)

Question Stimulus :­

The final product (II) is:/ अ聰�म उ✀ॊद (II) ऻॖ:

Epoxy cyclohexane/एपॗসी ऺॊइोऻेসेन

2­chloro cyclohexanol/2­ोरो ऺॊइोऻेসेनॗल

(±) cis ­ 1, 2­cyclohexanediol/(±) ोऺऺ­1, 2­ऺॊइोऻेসेोनडॊइऑल

(±) trans­1, 2­cyclohexanediol/(±) ट턅 ॊॠऺ­1, 2­ऺॊइोऻेসेोनडॊइऑल

Correct Answer :­(±) trans­1, 2­cyclohexanediol/(±) ट턅 ॊॠऺ­1, 2­ऺॊइोऻेসेोनडॊइऑल 

7)

Question Stimulus :­

Equivalent weight of reductant in the following reaction:/ ोन㤁ोल聰खत अोभोᔁयॊ म瀀
अपचॊयक कॊ तॏ颐ॊॠकी भॊर ऻॖ:

Ag2O + H2O2 → 2Ag + H2O + O2

Correct Answer :­  



8)

Question Stimulus :­

The  relative  reactivity  of  1°,  2°  and  3°­H  in  chlorination  reaction  has  been
found to be 1 : 3.8 : 5. In the reaction:/ ोरीनीकरण अोभोᔁयॊ म瀀 1°, 2° तथॊ 3°­H की ऺॊपेो瀐क
ोᔁयॊषीलतॊ 1 : 3.8 : 5 ऻॖ। दी गई अोभोᔁयॊ म瀀:

1 : 3.8 : 5 : 1

3 : 7.6 : 5 : 6

3 : 7.6 : 5 : 3

1 : 7.6 : 5 : 1

Correct Answer :­3 : 7.6 : 5 : 6 

9)

Question Stimulus :­

Which of the following compounds can be purified by steam distillation method:/ ोन㤁 म瀀
ऺे कग़नऺॊ यग़ोगक भॊप आऺशन ोशोध ㌑ॊरॊ प瀀रषोोधत ोकयॊ जॊतॊ ऻॖ:

O–nitrophenol/O­नॊइट턅 ोफीनॗल

Nitrobenzene/नॊइट턅 ोब偀जीन

Aniline/एोनलीन

All of these/ उपरो煬 ऺभी

Correct Answer :­All of these/ उपरो煬 ऺभी 

10)

Question Stimulus :­

Which of the following is an aromatic nucleophilic substitution reaction:/ ोन㤁 म瀀 ऺे कग़न
ऐरोमॖोटक नॊोभक挄ेऻी ोत☧थॊपन अोभोᔁयॊ ऻॖ:



Correct Answer :­  

11)

Question Stimulus :­

At the condition of maximum buffer action, pH of basic buffer is 10. Then find out pH of
this buffer solution when concentration of salt is 100 times to the base:/ उだतम बफर
瀐मतॊ की षत砆 पर, 瀐ॊरीय बफर कॊ pH = 10 ऻॖ। जब लशण की ऺॊ㈀तॊ, 瀐ॊर ऺे 100 गॏनॊ ऻोती ऻॖ तो बफर ोशलयन
कॊ pH 腒ॊत कीोजऐ:

8

6

4

10

Correct Answer :­8 

12)

Question Stimulus :­

The most stable enol form of 2, 4­pentanedione is:/2, 4­पे脐ेनडॊईओन की ऺशॊ砆ोधक ☧थॊयी ईनॊल
अश☧थॊ ऻॖ:



Correct Answer :­  

13)

Question Stimulus :­

In which of the following reactions water doesnot acts as hydrolytic agent:/ ोन㤁ोल聰खत
अोभोᔁयॊ म瀀 ोकऺम瀀 जल एक अपघटककॊरी कॊरक कॊ कॊय砆 नऻी ॠ करतॊ:

CaC2 + H2O

PBr3 + H2O

NH3 + H2O

Ca3P2 + H2O

Correct Answer :­NH3 + H2O 

14)

Question Stimulus :­

Which is not a green­house­gas in the following:/ ोन㤁 म瀀 ऺे कग़नऺी ᙐीन­ऻॊउऺ गॖऺ नऻी ॠ ऻॖ:

Carbondioxide/कॊब砆नडॊईऑসॊइड

Methane/मेथेन

Phosgene/फॊᬠीन

Nitrogen oxide/ नॊइट턅 ोजन ऑসॊइड



Correct Answer :­Phosgene/फॊᬠीन 

15)

Question Stimulus :­

Which can form Schiff's base:/ कग़न ोषफ 瀐ॊर बनॊ ऺकतॊ ऻॖ:

RNH2

R2NH

R3N

None of these/ इऺम瀀 ऺे कोई नऻी ॠ

Correct Answer :­RNH2 

16)

Question Stimulus :­

The following conversion can't be done by:/ ोन㤁 ㌯पॊ�रण ोकऺऺे नऻी ॠ ऻोतॊ ऻॖ;

Clemmesen – reduction/ेम瀀ऺन– अपचयन

Wolff ­ Kishner – reduction/ शो–ोकषनर–अपचयन

Wurtz – reaction/शॏट्砆ि–अोभोᔁयॊ

Red P and HI at 200°C/लॊल फॊఌोरऺ श HI 200°C पर

Correct Answer :­Wurtz – reaction/शॏट्砆ि–अोभोᔁयॊ 

17)

Question Stimulus :­

The specific conductance of an acid at a dilution of 8 litre is 0.0238 mho/cm.
While   for this acid is 390 mho cm2/eq. Find out the degree of ionisation:/ 8
ोलटर की तनॏतॊ पर एक अ帆 की ोशोष꤀ चॊलकतॊ  0.0238 mho/cm ऻॖ। जबोक इऺ अ帆 के ोलये  
 = 390 mho cm2/eq ऻॖ। आयोनकरण की मॊḀॊ 腒ॊत कीोजऐ:

0.48



0.38

0.28

0.58

Correct Answer :­0.48 

18)

Question Stimulus :­

Among the following fibres, which one is a polyamide:/ ोन㤁ोल聰खत रेषो ॠ म瀀 ऺे कग़न पॊलीऐमॊइड
ऻॖ:

Dacron/ डेकरॗन

Orlon/ आरलॗन

Nylon–6/ नॊयलॗन­6

Rayon/रेयॗन

Correct Answer :­Nylon–6/ नॊयलॗन­6 

19)

Question Stimulus :­

Which of the following shows the correct order of basic nature in aqueous
medium:/ जलीय मॊम म瀀 瀐ॊरीय ऺॊमȚ砆 कॊ ोन㤁 म瀀 ऺे कग़नऺॊ ऺऻी  ᔁम ऻॖ:

(CH3)3N > (CH3)2NH > CH3NH2 > NH3

(CH3)2NH > (CH3)3N > CH3NH2 > NH3

(CH3)2NH > CH3NH2 > (CH3)3N > NH3

CH3NH2 > (CH3)3N > (CH3)2NH > NH3

Correct Answer :­(CH3)2NH > CH3NH2 > (CH3)3N > NH3 

20)

Question Stimulus :­

Fischer­Tropsch process is used in the manufacture of:/ ोकऺके ोनमॊ砆ण म瀀 ोफषर­ट턅 ॊ䴁 ᔁम
यॏ煬 ऻोतॊ ऻॖ:



Synthetic petrol/  ॠऺेोहत पेट턅 ोल

Ethanol/ एथेनॊल

Benzene/ ब偀जीन

Ethanoic acid/ एथेनोइक अ帆

Correct Answer :­Synthetic petrol/  ॠऺेोहत पेट턅 ोल 

21)

Question Stimulus :­

Which of the following is an anti­AIDS drug:/ ोन㤁 म瀀 ऺे कग़न ोत­एड्ऺ औहधी ऻॖ:

Crixivan/ोᔁসीशन

Azidothymidine (AZT)/एोिडोथॊयोमडीन (AZT)

Lamivudine (3–TC)/लेमीशॏडीन (3–TC)

All of these/ उपरो煬 ऺभी

Correct Answer :­All of these/ उपरो煬 ऺभी 

22)

Question Stimulus :­

Which of the following has highest conductance:/ोन㤁 म瀀 ऺे ोकऺकी उだतम चॊलकतॊ ऻॖ:

0.1 M CH3COOH

0.1 M NaCl

0.1 M KNO3

0.1 M HCl

Correct Answer :­0.1 M HCl 

23)

Question Stimulus :­

Which of the following products may be formed in the given reaction:/ दी गई
अोभोᔁयॊ ऺे ॊᙐ उ✀ॊद ऻॖ:



All of the above/उपरो煬 ऺभी

Correct Answer :­All of the above/उपरो煬 ऺभी 

24)

Question Stimulus :­

Resistance of solution A is 50 ohm and resistance of B is 100 ohm. Both solution being
taken in same conductivity cell one by one. If equal volume of solution A and B are
mixed. What will be the resistance of mixture using the same cell. Assume that there
is no change in the degree of ionisation:/ ोशलयन A कॊ ोतरोध 50 ohm श ोशलयन B कॊ ोतरोध
100 ohm ऻॖ दोनो ॠ ोशलयनो ॠ को एक के बॊद एक करके ऺमॊन चॊलकतॊ ऺेल म瀀 रखॊ जॊतॊ ऻॖ। योद ोशलयन A श B कॊ
ऺमॊन आयतन ोमो਑त ोकयॊ जॊतॊ ऻॖ। ऺमॊन ऺेल के ोम਑ण कॊ ोतरोध ⠀ॊ ऻोगॊ। मॊोनए की आयोनकरण की मॊḀॊ
म瀀 कोई परीशत砆न नऻी ᄃआ ऻॖ:

66.6 ohm

33.3 ohm

22.2 ohm

11.1 ohm

Correct Answer :­66.6 ohm 

25)

Question Stimulus :­

The necessary and sufficient condition for a molecule to be optically active is that:/
ोकऺी अणॏ के कॊोषक ऺोᔁय ऻोने के ोलए आश퀂क तथॊ पयॊ砆ᙐ षत砆 ऻॖ ोक:

It must contain asymmetric carbon atoms/ इऺम瀀 अऺमोमत कॊब砆न परमॊणॏ उप聰☧थत ऻो ॠ

It must be symmetric/ यऻ ऺमोमत ऻो



It must be identical with its mirror image/ यऻ ĉयॠ के दप砆ण ोतोबᐁ के ऺम㌯प ऻो

It must be non­identical with its mirror image/ यऻ ĉयॠ के दप砆ण ोतोबᐁ के ऺम㌯प नऻी ॠ ऻो

Correct Answer :­It must be non­identical with its mirror image/ यऻ ĉयॠ के दप砆ण ोतोबᐁ
के ऺम㌯प नऻी ॠ ऻो 

26)

Question Stimulus :­

Which statement is false?/ोन㤁ोल聰खत कग़नऺॊ कथन गलत ऻॖ?

H– is larger than I–/H­, I­ ऺे बीॊ ऻोतॊ ऻॖ

Boranes are electron deficient molecules/ बोरेन इलेķ턅 ॗन ㌯ॐन यग़ोगक ऻॖ

Regular use of D2O instead of H2O can be fatal/ D2O कॊ H2O की जगऻ ोनयोमत उपयोग
ऻॊोनकॊरक ऻॖ।

Metallic hydrides are interstitial hydride/ धॊ聰ᅝक ऻॊइड턅 ॊइड अ�रॊकॊषी ऻॊइड턅 ॊइड ऻोते ऻॖ

Correct Answer :­H– is larger than I–/H­, I­ ऺे बीॊ ऻोतॊ ऻॖ 

27)

Question Stimulus :­

In 100 lit saturated solution of AlCl3, 10.65 m gm of Cl– are present. Then find out the
Ksp of AlCl3:/ AlCl3 के 100 ोलटर ऺ�॑ᙐ ोशलयन म瀀 Cl– आयन के 10.65 m gm उप聰☧थत ऻॖ। तब AlCl3 कॊ
Ksp 腒ॊत कीोजए:

27 × 10–24

1.0 × 10–24

4 × 10–24

2.7 × 10–24

Correct Answer :­27 × 10–24 

28)

Question Stimulus :­

In which of the following molecule central atom has two different oxidation state:/
ोन㤁ोल聰खत अणॏओॠ म瀀 के㈀ीय धॊतॏ की ोशोभp आসीकरण अश☧थॊ ऻॖ:



H2S2O8

H4P2O7

H2S2O3

K2Cr2O7

Correct Answer :­H2S2O3 

29)

Question Stimulus :­

Which of the following is not an amino acid?/ोन㤁 म瀀 ऺे कग़नऺॊ अमीनो अ帆 नऻी ॠ ऻॖ?

H2N–CH2–COOH

Correct Answer :­  

30)

Question Stimulus :­

Silver benzoate on heating with bromine in carbon tetrachloride forms:/ ोऺ䁠र ब偀जोएट को
᠙ोमीन के ऺॊथ कॊब砆न ट턅 ेटॊोरॊइड की उप聰☧थोत म瀀 गम砆 करने पर बनतॊ ऻॖ:



Correct Answer :­  

31)

Question Stimulus :­

For a second order reaction in which both the reactants have same equal initial
concentration. The time taken for 20% completion of reaction is 500 sec. Then in what
time reaction will be completed 60%:/ एक ो㌑तीय कोटी की अोभोᔁयॊ म瀀 दोनो ॠ ोᔁयॊ कॊरको की
ॊर聰ᄐक ऺॊ㈀तॊ ऺमॊन ऻॖ। अोभोᔁयॊ के 20% पॐण砆 ऻोने म瀀 500 ऺेकሳ लगतॊ ऻॖ। 60% पॐण砆 ऻोने म瀀 ोकतनॊ ऺमय
लगेगॊ?

1500 sec/ 1500 ऺेकሳ

500 sec/ 500 ऺेकሳ

250 sec/ 250 ऺेकሳ

3000 sec/ 3000 ऺेकሳ

Correct Answer :­3000 sec/ 3000 ऺेकሳ 

32)

Question Stimulus :­

Triglycerides which constitute natural fats and oils are cleaved into glycerol and fatty
acids by the enzyme?/ ॊक॑ोतक शऺॊ तथॊ तेल यॏ煬 ट턅 ॊई聰뷾ऺरॊईड कॊ 聰뷾ऺरॗल तथॊ शऺीय अ帆 म瀀 ोशदलन
ोकऺ एॠ जॊइम ㌑ॊरॊ ऻोतॊ ऻॖ?

Pepsin/पे聰䴁न

Trypsin/ोट턅 聰䴁न

Diastase/डॊईएƸेि

Lipase/लॊइपेि

Correct Answer :­Lipase/लॊइपेि 



33)

Question Stimulus :­

In a solution, 0.1 M CH3COOH solution and 0.1M HCl are present. Then find out
the pH of solution:/ एक ोशलयन म瀀,  0.1 M CH3COOH श 0.1M HCl उप聰☧थत ऻॖ ोशलयन कॊ
pH 腒ॊत कीोजऐ:

2

1

4

3

Correct Answer :­1 

34)

Question Stimulus :­

The correct order of nucleophilicities of following species is:/ ोन㤁 अणॏओॠ के  ॠऺदभ砆 म瀀 नॊोभक
挄ेऻतॊ कॊ ऺऻी ᔁम ऻॖ:

CH3O
⊝ > CH3COO⊝ > CH3S⊝

CH3S
⊝ > CH3O⊝ > CH3COO⊝

CH3COO
⊝ > CH3S⊝ > CH3O⊝

CH3S
⊝ > CH3COO⊝ > CH3O⊝

Correct Answer :­CH3S⊝ > CH3O⊝ > CH3COO⊝ 
35)

Question Stimulus :­

Benzyl chloride can be prepared from toluene by chlorination with:/ टॗलॐईन कॊ ोन㤁 म瀀 ऺे
ोकऺके ㌑ॊरॊ ोरीनीकरण करॊने पर ब偀ोजल ोरॊइड बनतॊ ऻॖ:

SOCl2

SO2Cl2

Cl2



Both SO2Cl2 and Cl2/ SO2Cl2 तथॊ Cl2 दोनो ॠ

Correct Answer :­Both SO2Cl2 and Cl2/ SO2Cl2 तथॊ Cl2 दोनो ॠ 

36)

Question Stimulus :­

(R)­2­Bromobutane is hydrolyzed with aq. KOH under SN2 reaction conditions. The
product formed is:/ (R)­2 ᠙ोमोἀॐटेन की SN2 अोभोᔁयॊ प瀀र聰☧थोत म瀀 जलीय KOH ऺे ोᔁयॊ करॊने पर
उ✀ॊद बनतॊ ऻॖ:

(R)­2­butanol/(R)­2­ ἀॐटेनॗल

(S)­2­butanol/(S)­2­ ἀॐटेनॗल

(R)­ and (S)­2­butanol (1 : 1)/ (R)­ और (S)­2­ἀॐटेनॗल (1 : 1)

(R)­ and (S)­2­butanol (2 : 1)/ (R)­ और (S)­2­ἀॐटेनॗल (2 : 1)

Correct Answer :­(S)­2­butanol/(S)­2­ ἀॐटेनॗल 

37)

Question Stimulus :­

An example of natural biopolymer is:/ ॊक॑ोतक जॖशबᄃलक कॊ उदॊऻरण ऻॖ

DNA

PMMC

Teflon/ टेफलॗन

PVC

Correct Answer :­DNA 

38)

Question Stimulus :­



Correct Answer :­  

39)

Question Stimulus :­

The order of decreasing stability of the anions is:/ ोदये गये ऋणॊयनो ॠ के ☧थॊोयᅝ कॊ
घटतॊ ᔁम ऻॖ:

I > II > III > IV

IV > III > II > I

IV > III > I > II

I > II > IV > III

Correct Answer :­IV > III > II > I 

40)

Question Stimulus :­

Which is incorrect statement?/ कग़नऺॊ कथन गलत ऻॖ?

Bridgehead halides are inert to both SN1 and SN2 reactions/ ो᠙जऻेड ऻॖलॊइड SN1 तथॊ
SN2 दोनो ॠ अोभोᔁयॊओॠ ऻेतॏ अोᔁय ऻॖ

The first step in both SN1 and E1 reactions is the same/ SN1 तथॊ E1 अोभोᔁयॊओॠ कॊ
थम पद एक ऺमॊन ऻोतॊ ऻॖ

SN2 reactions proceed with total retention of configuration/ SN2 अोभोᔁयॊ म瀀 ऺदॖश
ोश㌯ॊऺ अप瀀रशोत砆त रऻतॊ ऻॖ



All the above/ उपरो煬 ऺभी

Correct Answer :­SN2 reactions proceed with total retention of configuration/ SN2
अोभोᔁयॊ म瀀 ऺदॖश ोश㌯ॊऺ अप瀀रशोत砆त रऻतॊ ऻॖ 

41)

Question Stimulus :­

Correct Answer :­  

42)

Question Stimulus :­

Which is most stable carbocation:/कग़नऺॊ अोधकतम ☧थॊयी कॊब砆धनॊयन ऻॖ:



Correct Answer :­  

43)

Question Stimulus :­

has the IUPAC name:/   कॊ IUPAC नॊम ऻॖ:

Methoxy ethane/ मेथॗসी एथेन

Ethoxy methane/ एथॗসी मेथेन

Methoxy propane/ मेथॗসी ोपेन

Propoxy methane/ ोपॗসी मेथेन

Correct Answer :­Methoxy ethane/ मेथॗসी एथेन 

44)

Question Stimulus :­

PCl5(g) gives PCl3(g) and Cl2(g). Initially 4 moles of PCl5(g) are present in a vessel. At 5 atm
upto equilibrium, 40% PCl5(g) is dissociated, then find out the value of Kp:/ PCl5(g), PCl3(g)
और Cl2(g) देती ऻॖ। एक पॊḀ म瀀, ॊरᄐ म瀀 PCl5(g) के 4 mol उप聰☧थत ऻॖ। 5 atm पर ऺॊ뿾 तक 40% PCl5(g)
ोशयोोजत ऻो जॊती ऻॖ। Kp कॊ मॊन 腒ॊत कीोजऐ:

0.95 atm

0.6 atm

1.8 atm

1.6 atm

Correct Answer :­0.95 atm 

45)

Question Stimulus :­

The dissociation of solid NH4HS/ ठोऺ NH4HS कॊ ोशयोजन ोन㤁 ऻॖ



If equal pressure of the mixture is 1.2 atm. Then calculate the value of Kp:/ योद ोम਑ण कॊ
ऺमॊन दॊब 1.2 atm ऻॖ, तब Kp कॊ मॊन 腒ॊत कीोजऐ:

0.66 atm2

0.46 atm2

0.36 atm2

0.56 atm2

Correct Answer :­0.36 atm2 

46)

Question Stimulus :­

Which of the following compounds can liberate CO2 with NaHCO3:/ोन㤁 म瀀 ऺे कग़नऺॊ यग़ोगक
NaHCO3 के ऺॊथ CO2 उ✀p करतॊ ऻॖ:

2, 4, 6­trinitrophenol/ट턅 ॊईनॊइट턅 ोफीनॊल

Benzoic acid/ब偀जोइक अ帆

N­alkyl ammonium chloride/N­ ए聰怀ल अमोोनयम ोरॊइड

All the above/ उपरो煬 ऺभी

Correct Answer :­All the above/ उपरो煬 ऺभी 

47)

Question Stimulus :­

Which of the following ether is most unreactive towards conc. HBr:/ ोन㤁 म瀀 ऺे कग़नऺॊ ईथर
ऺॊ㈀ HBr के ोत अोधकतम अोᔁयॊषील ऻॖ:



Correct Answer :­  

48)

Question Stimulus :­

(CH3)3CMgCl on reaction with D2O gives:/ (CH3)3CMgCl तथॊ D2O की ोᔁयॊ ऺे बनतॊ ऻॖ:

(CH3)3CD

(CH3)3COD

(CD3)3CD

(CD3)3COD

Correct Answer :­(CH3)3CD 

49)

Question Stimulus :­

A Cu electrode is placed in 0.1 M Cu+2 ion solution assuming that salt is 60%
dissociated. Then calculate electrode potential of Cu in this solution:/ एक Cu
इलेķ턅 ोड की 0.1 M Cu+2  आयन ोशलयन म瀀 रखॊ जॊतॊ ऻॖ। मॊोनऐ ोक लशण 60% ोशयोजीत ऻोतॊ ऻॖ। इऺ
ोशलयन म瀀 Cu कॊ इलेķ턅 ोड ोशभश 腒ॊत कीोजऐ

(If =   = 0.34 V):/ (योद =  = 0.34 V ऻॖ):

0.304 V

1.304 V

2.304 V

3.034 V

Correct Answer :­0.304 V 

50)

Question Stimulus :­

Hydrogenation reaction is carried out at 500 K. If the same reaction is carried out in



the presence of catalyst at the same rate, the temperature is 400K. Calculate the
activation energy if catalyst lowers the activation energy by 20 KJ/mol:/ 500 K पर, एक
ऻॊइड턅 ोजनीकरण अोभोᔁयॊ ऻोती ऻॖ। ऺमॊन दर पर, ऺमॊन अोभोᔁयॊ को उ倁ेरक की उप聰☧थोत म瀀 करॊयॊ जॊतॊ ऻॖ तब
तॊप 400K ऻोतॊ ऻॖ। योद उ倁ेरक की उप聰☧थोत म瀀 ऺोᔁयण ऊजॊ砆 20 KJ/mol ऺे कम ऻो जॊती ऻॖ तो ऺोᔁयण उजॊ砆
腒ॊत कीोजऐ:

100 KJ/mol

50 KJ/mol

30 KJ/mol

20 KJ/mol

Correct Answer :­100 KJ/mol 

Topic:­ Botany
1)

Question Stimulus :­

Terai forest is:/ तरॊई शन ऻॖ:

Tropical/ उˁकोटबॠधीय

Coniferous/ षॠकॏ धॊरी

Deciduous/ पण砆पॊती

Temperate deciduous/ऺमषीतोˁ पण砆पॊती

Correct Answer :­Tropical/ उˁकोटबॠधीय 

2)

Question Stimulus :­

Green ear disease of Bajra is caused by:/बॊजरे म瀀 ‘ऻ瀀रत बॊली रोग’ कॊ कॊरण ऻॖ

Phytophthora infestans/फॊइटोᎱथोरॊ इ⼹ेऺटे℁

Pilobolus/ पॊइलोबोलऺ

Sclerospora graminicola/☂ेलेरो᐀ोरॊ गेरोमनीकोलॊ

Cystopus candidus/ोऺƸोपऺ के聰𣏕डऺ

Correct Answer :­Sclerospora graminicola/☂ेलेरो᐀ोरॊ गेरोमनीकोलॊ 

3)



Question Stimulus :­

In present times the origin of life is not possible from inorganic compounds due to:/
शत砆मॊन म瀀 अकॊब砆ोनक पदॊथ� ऺे जीशन की उ✀ोㄤ  ॠऺभश नऻी ॠ ऻॖ ⠀ोॠोक:

Raw material not available/ कだॊ मॊल उपल렇 नऻी ॠ ऻॖ

High conc. of O2 in atmosphere/ शॊतॊशरण म瀀 आসीजन की अोधकतॊ

Decrease in temperature/ तॊप म瀀 कमी

Excess of pollution/ दॐ हण की अोधकतॊ

Correct Answer :­High conc. of O2 in atmosphere/ शॊतॊशरण म瀀 आসीजन की अोधकतॊ 

4)

Question Stimulus :­

Potassium ions plays significant role in the turgidity of guards cells, was first
suggested by:/ पोटेोषयम आयन र瀐क कोोषकॊओॠ की 聰ఌोत म瀀 मऻᅝपॐण砆 भॐोमकॊ ोनभॊते ऻ偀, ऺश砆थम ोकऺने
ॏऺझॊयॊ थॊ:

Levitt/लेोशट

Steward/聰Ƹशॊड砆

Fujino/फॐ ोजनो

Sayre/ऺॊयरे

Correct Answer :­Fujino/फॐ ोजनो 

5)

Question Stimulus :­

What is false for synaptonemal complex:/ोऺनेोनीमल जोटल के ोलए ⠀ॊ ऺऻी नऻी ॠ ऻॖ?

Synaptonemal complex has three lines/ ोऺनेोनीमल जोटल मे तीन रेखॊऐॠ ऻोती ऻॖ

Synaptonemal complex is completely disappear in diplotene stage/ोऺनेोनीमल जोटल
ोड̀ोटीन म瀀 ोशलॏᙐ ऻो जॊतॊ ऻॖ

Synaptonemal complex help in crossing over/ोऺनेोनीमल जोटल ᔁॊऺी ॠग ऑशर मे ऺऻॊयतॊ
करतॊ ऻॖ

Synaptonemal complex is form of RNA/ ोऺनेोनीमल जोटल RNA कॊ कॊर ऻॖ

Correct Answer :­Synaptonemal complex is form of RNA/ ोऺनेोनीमल जोटल RNA कॊ कॊर ऻॖ



6)

Question Stimulus :­

Match the following and choose the correct combination from the options given:/ ोन㤁 ऺे
ऺऻी  ॠऺयोग बतॊइये:

  Column–I/ कॗलम–I   Column–II/ कॗलम–II
(A) E. coli (i) Tumour gene/ ਅॐमर जॎन

(B) Agrobacteriam/
एঁोबॖঠॎौरयम (ii) Digestive hydrocarbons of crude

oil/ कৡॕ तॕल कॕ ऻॊइड३ ोकॊब१न कॊ पॊचन

(C) Bacillus thuringiensis/
बॖसॎलस ইॏऐनजॕनसॎस (iii) Human insulin production/ मॊनश

इɌॏोलन उȋॊदन

(D) Pseudomonas putida/
सॏडोमोनॊस पॏटॎडॊ (iv) Biocontrol of fungal disease/

कशक रोग कॊ जॖोशक ोनयंআण
    (v) Bio insecticide/ जॖोशक कॎटॊणॏनॊषॎ

A–iii, B–i, C–v, D–iv

A–i, B–ii, C–iii, D–iv

A–iv, B–iii, C–i, D–ii

A–iii, B–i, C–v, D–ii

Correct Answer :­A–iii, B–i, C–v, D–ii 

7)

Question Stimulus :­

Most common type of pollen grains in dicotyledons are:/ ो㌑बीजपḀी पॊदपो ॠ म瀀 ऺबऺे ऺॊमॊ㌯
कॊर के परॊगकण ऻोते ऻ偀:

Monocolpate/मोनोकॊलपेट

Monoporate/मोनोपोरेट

Tricolpate/ट턅 ॊइकॊलपेट

Triporate/ट턅 ॊइपोरेट

Correct Answer :­Tricolpate/ट턅 ॊइकॊलपेट 

8)

Question Stimulus :­



Maximum energy is produced by oxidation of:/अोधकतम ऊजॊ砆 ोन㤁 के आসीकरण ㌑ॊरॊ उ✀p ऻोती
ऻॖ:

Lipid/ोलोपड

Protein/ोटीन

Carbohydrates/ कॊब遐ऻॊइड턅 ेट

None of these/ इनम瀀 ऺे कोई नऻी ॠ

Correct Answer :­Lipid/ोलोपड 

9)

Question Stimulus :­

Eustele is characteristic of:/  ॐऺरᄐ  (यॐƸील) लॊ瀐ोणक गॏण ऻॖ:

Monocots/ एकबीजपोḀयो ॠ कॊ

Dicots/ ो㌑बीजपḀीयो ॠ कॊ

Pteridophytes/टे瀀रडोफॊइटॊ कॊ

Bryophytes/ ᠙ॊयोफॊइटॊ कॊ

Correct Answer :­Dicots/ ो㌑बीजपḀीयो ॠ कॊ 

10)

Question Stimulus :­

In submerged hydrophytes/vallisneria the functional stomata are found:/जलोनमĒ
जलो聰Ĉद्/शेोलऺने瀀रयॊ म瀀 कॊय砆षील रॠ䜀 पॊये जॊते ऻ偀:

On the upper leaf surface/ पण砆 की ऊपरी ऺतऻ पर

On the lower leaf surface/ पण砆 की ोनचली ऺतऻ पर

Both leaf surface/ पण砆 की दोनो ॠ ऺतऻ पर

No where on the plant/ पॊदप पर कऻी ॠ नऻी ॠ

Correct Answer :­No where on the plant/ पॊदप पर कऻी ॠ नऻी ॠ 

11)

Question Stimulus :­



Euchromatin:/ यॐᔁोमेोटन:

Has more histone protein/म瀀 अोधक ोऻƸोन ोटीन ऻोतॊ ऻॖ

Replicate in late s­phase / देर ऺे s­अश☧थॊ म瀀 रे̀ीकेट ऻोतॊ ऻॖ

Has less linkage/म瀀 कम ोलॠकेज ऻोतॊ ऻॖ

Form rRNA, t RNA/ rRNA, t RNA बनॊतॊ ऻॖ

Correct Answer :­Has less linkage/म瀀 कम ोलॠकेज ऻोतॊ ऻॖ 

12)

Question Stimulus :­

Which of the following essential element of plants do not requires as cofactor of
enzymes?/ ोन㤁 म瀀 कग़नऺॊ पॊदपो ॠ कॊ अोनशॊय砆 तᅝ, एॠ जॊइमो ॠ के ऺऻकॊरक के ㌯प म瀀 आश퀂क नऻी ॠ ऻॖ?

Potassium/पोटेोषयम

Zinc/ोजॠक

Boron/ बोरोन

Mangnese/म偀गनीज

Correct Answer :­Boron/ बोरोन 

13)

Question Stimulus :­

Initiation codon of prokaryotes in protein synthesis represents which amino acid:/
अऺीमके㈀ीयो ॠ म瀀 ोटीन  ॠऺेहण के ऺमय ॊरᄐन कोडोन कग़नऺे अमीनो ॠ अ帆 को ोन㌯ोपत करतॊ ऻॖ:

Methionine/मीथीयोोनन

Formylated methionine/फॊोम砆ोलक॑त मीथीयोोनन

Arginine/आज५नीन

Lysine/लॊइऺीन

Correct Answer :­Formylated methionine/फॊोम砆ोलक॑त मीथीयोोनन 

14)

Question Stimulus :­



During transcription, the DNA site at which RNA polymerase is bind, is called:/ अनॏलेखन
के दग़रॊन DNA कॊ ☧थल जऻॊँ पर DNA पोोलमरेज ए̢जॊइम बॠोधत ऻोतॊ ऻॖ, कऻलॊतॊ ऻॖ:

Promoter site/ोमोटर ☧थल

Regulator site/ोनयमक ☧थल

Terminator site/ ऺमॊपन ☧थल

None of these/ इनम瀀 ऺे कोई नऻी ॠ

Correct Answer :­Promoter site/ोमोटर ☧थल 

15)

Question Stimulus :­

The basis of DNA fingerprinting is:/DNA ोफॠ गर ोॠोटॠग कॊ आधॊर ऻॖ:

Availability of cloned DNA/ ोन DNA की उपल렇तॊ

Knowledge of human karyotype/ मॊनश कॖ瀀रयोटॊइप कॊ 腒ॊन

Phenotypic difference between individuals/ ऺदҰोॠ के बीच फीनोटॊइप अऺमॊनतॊ

Occurrence of RFLP (Restriction Fragment Length polymorphism)/RFLP की उप聰☧थोत

Correct Answer :­Occurrence of RFLP (Restriction Fragment Length
polymorphism)/RFLP की उप聰☧थोत 

16)

Question Stimulus :­

In plants, recapitulation is shown by:/ पॊदपो ॠ म瀀 पॏन砆रॊशत砆न दषॊ砆यॊ जॊतॊ ऻॖ:

O. Lamarckiana/ ओ.लेमॊोक砆 आनॊ ㌑ॊरॊ

Pisum sativum/ पॊइऺम ऺेटॊइशम ㌑ॊरॊ

Acacia/ अकेोषयॊ ㌑ॊरॊ

None of these/ इनम瀀 ऺे कोई नऻी ॠ

Correct Answer :­Acacia/ अकेोषयॊ ㌑ॊरॊ 

17)

Question Stimulus :­



A palaeontologist has recovered a bit of organic material from the 400–year old
preserved skin of an extinct dodo. She would like to compare DNA from a sample with
DNA from living birds. Which of the following would be most useful for increasing the
amount of DNA available for testing?/ एक जीशॊᄃ ोश腒ॊनी को 400 ऺॊल पॏरॊने लॏᙐ डोडो कॊ जॖोशक
पदॊथ砆 ोमलॊ शऻ इऺ DNA को जीोशत पो瀐यो ॠ के DNA ऺे ोमलॊनॊ चॊऻतॊ ऻॖ। ोन㤁 म瀀 ऺे कग़न ऺी तकनीक परी瀐ण के
ोलए इऺ DNA की मॊḀॊ को बुॊने म瀀 उपयोगी ऻोगी?

Electrophoresis/इलेķ턅 ोफोरेोऺऺ

Ti plasmid technology/Ti­̀ॊ聰ᄠड तकनीक

Polymerase chain reaction/ पॗलीमरेज चॖन 瀀रए䁀न

Restriction fragment analysis/ रेƸ턅ी䁀न खሳ जॊँच

Correct Answer :­Polymerase chain reaction/ पॗलीमरेज चॖन 瀀रए䁀न 

18)

Question Stimulus :­

What is the similarity between seed germination and breaking of rocks by prehistoric
man?/ अॠकॏ रण श ॊगेोतऻॊोऺक मॊनश ㌑ॊरॊ च5ॊन瀀 तोीने म瀀 ⠀ॊ ऺमॊनतॊ ऻॖ?

Turgor pressure/聰ఌोत दॊब

Root pressure/ मॐल दॊब

Imbibition pressure/अ�ॡ षोहण दॊब

Osmotic pressure/परॊऺरण दॊब

Correct Answer :­Imbibition pressure/अ�ॡ षोहण दॊब 

19)

Question Stimulus :­

In split gene, the coding sequence is called:/ोशभ煬 जीन म瀀 कोडी ॠग ᔁम कऻलॊतॊ ऻॖ

Cistron/ोऺƸ턅ॗन

Operon/ ओपेरॗन

Exon/ एসॗन

Intron/ इॠट턅 ॗन

Correct Answer :­Exon/ एসॗन 



20)

Question Stimulus :­

A monocot showing secondary growth is:/ ो㌑तीयक श॑聰䀐 दोष砆त करने शॊलॊ एकबीजपḀी ऻॖ

Pinus/पॊइनऺ

Sugarcane/गpॊ

Maize/म∣ॊ

Yucca/यॏ∣ॊ

Correct Answer :­Yucca/यॏ∣ॊ 

21)

Question Stimulus :­

In which ovule, body of ovule lies at 90° on funiculus?/ ोकऺ बीजॊሳ म瀀 बीजॊሳ कॊ षरीर
बीजॊሳश॑� पर 90° के कोण पर 聰☧थत ऻोतॊ ऻॖ?

Anatropous/तीप

Amphitropous/एഇफीट턅 ोपऺ

Campylotropous/शᔁ

Hemitropous/अध砆तीप

Correct Answer :­Hemitropous/अध砆तीप 

22)

Question Stimulus :­

Bacteria which directly convert atmospheric nitrogen into nitrogen compound are
called:/ जीशॊणॏ जो शॊतॊशरणीय नॊइट턅 ोजन को ऺीधे ऻी नॊइट턅 ोजन यग़ोगक म瀀 प瀀रशोत砆त कर देते ऻ偀, कऻलॊते ऻ偀:

Denitrifying bacteria/ोशनॊइट턅 ीकॊरी जीशॊणॏ

Putrifying bacteria/᠂ॐट턅 ीफॊइॠग जीशॊणॏ

Nitrogen fixing bacteria/नॊइट턅 ोजन 聰☧थरीक॑त जीशॊणॏ

Nitrifying bacteria/नॊइट턅 ीकॊरी जीशॊणॏ

Correct Answer :­Nitrogen fixing bacteria/नॊइट턅 ोजन 聰☧थरीक॑त जीशॊणॏ 



23)

Question Stimulus :­

What is true for Telomere DNA?/ ोन㤁 म瀀 ऺे टीलोोमयर डी.एन.ए के ोलए ⠀ॊ ऺऻी ऻॖ?

Telomere DNA is adenine rich/ टीलोमीयर डी.एन.ए. म瀀 एडीनीन अोधक ऻोतॊ ऻॖ

Telomere part is more than one and less than five in a chromosome/ टीलोमीयर भॊग
एक ᔁोमोऺोम मे एक ऺे अोधक श 5 ऺे कम ऻोतॊ ऻॖ

Telomere DNA is Thymine rich/ टीलोमीयर डी.एन.ए. म瀀 थॊयमीन अोधक ऻोतॊ ऻॖ

Telomerase enzyme has lipid/ टीलोमीरेऺ ए̢जॊइम मे ोलोपड ऻोतॊ ऻॖ

Correct Answer :­Telomere part is more than one and less than five in a
chromosome/ टीलोमीयर भॊग एक ᔁोमोऺोम मे एक ऺे अोधक श 5 ऺे कम ऻोतॊ ऻॖ 

24)

Question Stimulus :­

In process of osmosis:/ कॊष फॊఌो瀀रलीकरण के दग़रॊन रऺोपरॊऺरण ऻोतॊ ऻॖ:

Water molecule moves from high concentration to low concentration of salt/जल के अणॏ लशण
की उだ ऺॊ㈀तॊ ऺे ोन㤁 ऺॊ㈀तॊ की ओर जॊते ऻ偀

Water molecule moves from low concentration to high concentration of salt / जल के अणॏ
लशण की ोन㤁 ऺॊ㈀तॊ ऺे उだ ऺॊ㈀तॊ की ओर जॊते ऻ偀

Both the above/उपरो煬 दोनो ॠ

No movement of water molecule/जल के अणॏओॠ की कोई गोत नऻी ॠ ऻोती

Correct Answer :­Water molecule moves from low concentration to high concentration of
salt / जल के अणॏ लशण की ोन㤁 ऺॊ㈀तॊ ऺे उだ ऺॊ㈀तॊ की ओर जॊते ऻ偀 

25)

Question Stimulus :­

What is the number of carbon in the deoxyribose sugar?/ डीआসीरॊइबोज षक砆 रॊ म瀀 कॊब砆न की
ॠऺ젂ॊ ोकतनी ऻोगी?

2

3

4



5

Correct Answer :­5 

26)

Question Stimulus :­

Which of the following plant physiological process leads to increase in rate of
respiration?/ ोन㤁 म瀀 ऺे कग़नऺे पॊदप कॊोय砆की ᔁम के कॊरण ᗀऺन की दर म瀀 श॑聰䀐 ऻोगी?

Phloem loading at source/Ąोत पर �ोयम लोोडॠग

Mineral absorption by roots/मॐल ㌑ॊरॊ खोनज अशषोहण

Opening at stomata/ रॠ䜀ो ॠ कॊ खॏलनॊ

All the above/ उपरो煬 ऺभी

Correct Answer :­All the above/ उपरो煬 ऺभी 

27)

Question Stimulus :­

A famous experiment was performed by F. W. went which leads to the isolation of
Auxin. It was performed on an algal product obtained from:/ एफ.ड⸀ॐ. श瀀ट ने एक ोऺ䀐 योग
ोकयॊ ोजऺके ㌑ॊरॊ आ聰সन प॑थ∣॑त ᄃआ। यऻ एक षॖशॊलीय उ✀ॊद पर ोकयॊ गयॊ थॊ, ोजऺे ॊᙐ ोकयॊ जॊतॊ ऻॖ:

Chondrus/को𣏕턅 ऺ

Gelidium/गेलीोडयम

Laminaria/लेोमने瀀रआ

Batrachospermum/बेट턅 ॊको᐀म砆म

Correct Answer :­Gelidium/गेलीोडयम 

28)

Question Stimulus :­

Which of the following is correct match:/ऺऻी मेल पऻचॊोनये:

Euphorba – Energy plantation/ यॐफोबॊ砆 ­ ऊजॊ砆 ̀ॊॠटेषन

Fire wood – Energy cropping/ जलॊऊ लकीी ­ ऊजॊ砆 क॑ही

Sugar cane crop raising – Petro plantation/ गpे की फऺल उगॊनॊ ­ पेट턅 ो ̀ॊॠटेषन



Whisky – Distilation of wine/ 聰㋎☂ी ­ शॊइन कॊ आऺशन

Correct Answer :­Whisky – Distilation of wine/ 聰㋎☂ी ­ शॊइन कॊ आऺशन 

29)

Question Stimulus :­

'Adaptation for better use of packed genetic material' this statement is related to
gene:/ ‘आनॏशॊॠोषक पदॊथ砆 कॊ 䜂ॊदॊ ऺे 䜂ॊदॊ उपयोग के ोलए यऻ एक अनॏकॐ लन ऻॖ’ यऻ कथन ोन㤁 जीन ऺे
ऺᐁ聰偀त ऻॖ:

Jumping gene/ज聰⼳ॠग जीन

Overlaping gene/ओशरलेोपॠग जीन

Pseudo gene/ Ұॐडोजीन

All the above/ उपरो煬 ऺभी

Correct Answer :­Overlaping gene/ओशरलेोपॠग जीन 

30)

Question Stimulus :­

Which of the following description does not apply to Phaeophyta:/ ोन㤁 म瀀 ऺे कग़नऺॊ कथन
ोफयोफॊयटॊ पर लॊगॐ नऻी ॠ ऻोतॊ ऻॖ?

Accessory photosynthetic pigment is fucoxanthin/ ऺऻॊयक कॊष  ॠऺेही शण砆क
挄ॐकोजे聰̀न ऻोतॊ ऻॖ

Nearly all are fresh water/ लगभग ऺभी ĉƸ (अलशणी) जलीय ऻोते ऻ偀

Stores carbohydrates as mannitol/ मेोpटॊल को कॊब遐ऻॊइड턅 ेट के ㌯प म瀀  ॠऺोचत
करते ऻ偀

Body is filamentous or thalloid/ षरीर त�ॏकी यॊ थॖलॊभ ऻोतॊ ऻॖ

Correct Answer :­Nearly all are fresh water/ लगभग ऺभी ĉƸ (अलशणी) जलीय ऻोते ऻ偀 

31)

Question Stimulus :­

Krebs­cycle takes place in:/ ᔁे° चᔁ ोकऺम瀀 ऻोतॊ ऻॖ?

Inner membrane of mitochondria/मॊइटोकॊ聰𣏕턅 यॊ की आॠत瀀रक ोझٿी

Outer membrane of mitochondria/ मॊइटोकॊ聰𣏕턅 यॊ की बॊ옳 ोझٿी



Matrix of mitochondria/ मॊइटोकॊ聰𣏕턅 यॊ की मेोट턅স

Outside of mitochondria/ मॊइटोकॊ聰𣏕턅 यॊ के बॊऻर

Correct Answer :­Matrix of mitochondria/ मॊइटोकॊ聰𣏕턅 यॊ की मेोट턅স 

32)

Question Stimulus :­

Two organism of same division but different order will be kept under the same:/ दो
ऺजीश जो एक ऻी भॊग के ऻ偀 लेोकन अलग­अलग गण रखते ऻ偀 उ瀀 रखॊ जॊ ऺकतॊ ऻॖ एक ऻी:

Class/शग砆

Sub order/उपगण

Genus/शॠष

Species/जॊोत

Correct Answer :­Class/शग砆 

33)

Question Stimulus :­

In a population if certain individuals are better adapted then the possible explanation
is:/ एक ऺमो꤀ म瀀 योद कॏ छ जीश बेऻतर अनॏकॏ ोलत ऻॖ तो इऺकॊ  ॠऺभशतॡ 遐ॊ젂ॊ ⠀ॊ ऻो ऺकती ऻॖ?

Genetic drift/ अनॏशॊॠोषक ोशचलन

Natural selection/ॊक॑ोतक शरण

Gene flow/ जीन शॊऻ

Mutation/उ✀瀀रशत砆न

Correct Answer :­Natural selection/ॊक॑ोतक शरण 

34)

Question Stimulus :­

Development of male gametophyte inside the anther is called:/ परॊगकोह के भीतर नर
यॏ㌖कोदोभद कॊ ोशकॊऺ कऻलॊतॊ ऻॖ:

Ex­situ/एস ोऺटॐ

In­situ/इन­ोऺटॐ



In­vitro/ इन­ोशट턅 ो

All of the above/ उपरो煬 ऺभी

Correct Answer :­In­situ/इन­ोऺटॐ  

35)

Question Stimulus :­

Edible part of mango is:/ आम कॊ खॊĒषील भॊग कग़न ऺॊ ऻोतॊ ऻॖ?

Receptacle/ पॏƸधर

Epicarp/ बॊ㌯फल­ोभोㄤ

Mesocarp/ मफल­ोभोㄤ

Endocarp/ अॠतॡ फल­ोभोㄤ

Correct Answer :­Mesocarp/ मफल­ोभोㄤ 

36)

Question Stimulus :­

Which of following pairs is correctly match for fluid mosaic model:/ोन㤁 म瀀 ऺे कग़नऺॊ तरल
मोजक मॊडल के ोलए ऺऻी ोमलॊन ऻॖ:

Number of single bonds– Fluidity of membrane/ एकल बॠध की  ॠऺ젂ॊ – ोझٿीकी तरलतॊ

Selective permeability – Cholesterol/चयोनत पॊरग뿾तॊ – कोलेƸ턅ोल

AT pase enzyme –Cell recognition / एटीपीएऺ ोशकर – कोोषकॊ चयन

Quasifluid –Cholesterol/ अ䀐砆तरल– कोलेƸ턅ोल

Correct Answer :­Quasifluid –Cholesterol/ अ䀐砆तरल– कोलेƸ턅ोल 

37)

Question Stimulus :­

Golden age of Dianosaurs was:/ डॊयनोऺॊर कॊ ĉोण砆म यॏग थॊ:

Triassic period/ोट턅 ऐोऺक कᄐ

Jurassic period/जॐरॊोऺक कᄐ

Devonian period/ ोडशोोनयन कᄐ



Cambrian period/ के聰⌰यन कᄐ

Correct Answer :­Jurassic period/जॐरॊोऺक कᄐ 

38)

Question Stimulus :­

Crossing over and linkage can be best studied in:/ ᔁॊो ॠऺग ओशर एशॠ ऺऻलĒतॊ कॊ अƸॊ अयन
ऻो ऺकतॊ ऻॖ, ोन㤁 म瀀:

Haploid/अगॏोणत

Diploid/ो㌑गॏोणत

Bacteria/जीशॊणॏ

Virus/ोशहॊणॏ

Correct Answer :­Haploid/अगॏोणत 

39)

Question Stimulus :­

The intervening sequence of gene are known as:/ जीन म瀀 遐शधॊन उ✀p करने शॊलॊ ᔁम कऻलॊतॊ
ऻॖ:

Intron/ इॠट턅 ॗन

Exon/ एসॗन

Codon/ कोडॗन

Cistron/ ोऺƸ턅ॊन

Correct Answer :­Intron/ इॠट턅 ॗन 

40)

Question Stimulus :­

Which element is found in chlorophyll?/ोरोोफल म瀀 कग़नऺॊ तᅝ पॊयॊ जॊतॊ ऻॖ?

Fe

Mg

K



Mn

Correct Answer :­Mg 

41)

Question Stimulus :­

The stimuli of light induce various photomorphogenetic changes in plants. The
photoreceptors responsible for perception of this stimuli is:/ पॊदपो ॠ म瀀 कॊष के उो଀पन ㌑ॊरॊ
कई कॊषआकॊ瀀रकी प瀀रशत砆न े瀀रत ऻोते ऻ偀। कॊष  ॠऺᙐॊऻक जो इऺ उो଀पन को ᙐऻण करते ऻ偀 शऻ ऻॖ:

Phytochromes/फॊयटोᔁो�

UV–A receptors/ परॊबॖगनी–ए  ॠऺᙐॊऻक

UV–B receptors/ परॊबॖगनी–बी  ॠऺᙐॊऻक

All the above/ उपरो煬 ऺभी

Correct Answer :­All the above/ उपरो煬 ऺभी 

42)

Question Stimulus :­

Usually triplet codons are read in which direction?/ ऺॊमॊ㌯तॡ ोḀगॏोणत कोडोन को ोकऺ ोदषॊ म瀀
पुॊ जॊतॊ ऻॖ?

3' – 5''

5' – 3''

5' – 5"

3' – 3"

Correct Answer :­5' – 3'' 

43)

Question Stimulus :­

One of the following feature is shared by algae and fungi/ ोन㤁 म瀀 ऺे कग़नऺॊ ल瀐ण कशक श
षॖशॊल म瀀 ऺमॊन ऻॖ?

Autotrophic nutrition/ ĉपोही पोहण

Parenchymatous thallus/ म॑दॐ तकीय थॖलॊऺ



Reserve food matter in form of polysaccharides/ खॊĒ पदॊथ砆 कॊ पोलीऺॖकरॊइड के ㌯प म瀀
ॠऺचयन

Embryo present in life cycle/ 欇ॐण कॊ जीशन चᔁ म瀀 उप聰☧थत ऻोनॊ

Correct Answer :­Reserve food matter in form of polysaccharides/ खॊĒ पदॊथ砆 कॊ
पोलीऺॖकरॊइड के ㌯प म瀀  ॠऺचयन 

44)

Question Stimulus :­

Lederberg's replica plating experiment explains/ लेडरबग砆 कॊ रे̀ीकॊ ̀ेटी ॠग योग ऺमझॊतॊ ऻॖ:

Lamarck's theory/ लेमॊक砆  कॊ ोऺ䀐ॊॠत

Darwin's theory/ डॊोश砆न कॊ ोऺ䀐ॊॠत

Mutation theory/ उ✀瀀रशत砆न ोऺ䀐ॊॠत

None of these/ इनम瀀 ऺे कोई नऻी ॠ

Correct Answer :­Darwin's theory/ डॊोश砆न कॊ ोऺ䀐ॊॠत 

45)

Question Stimulus :­

Smallest unit of microscopic level is:/ ॐऺᘁदष५ Ħर पर  ॐऺᘁतम इकॊई ऻॖ:

Subatomic particles/ उपपरमॊ㘲ीय कण

Atom/परमॊणॏ

Cell/कोोषकॊ

Molecule/अणॏ

Correct Answer :­Cell/कोोषकॊ 

46)

Question Stimulus :­

In angiosperm, characters of flowers are used in classification because:/ आश॑तबीजीयो ॠ म瀀
पॏƸ के ल瀐णोॠ कॊ उपयोग शग५करण म瀀 ोकयॊ जॊतॊ ऻॖ, ⠀ोॠोक:

Characters of flowers are conservative/ पॏƸ के ल瀐ण  ॠऺर瀐ी ऻोते ऻ偀

Flowers are large/ पॏƸ बीे ऻोते ऻ偀



Flowers are attractive/ पॏƸ आकह砆क ऻोते ऻ偀

None of the above/ उपरो煬 म瀀 ऺे कोई नऻी ॠ

Correct Answer :­Characters of flowers are conservative/ पॏƸ के ल瀐ण  ॠऺर瀐ी ऻोते ऻ偀 

47)

Question Stimulus :­

Edible part of Banana is:/ केले कॊ खॊने योᄁ भॊग ऻॖ:

Edicarp and Mesocarp/ बॊ옳 ोभोㄤ श म ोभोㄤ

Well developed mesocarp and less developed endocarp/  ॏऺ ोशकोऺत म ोभोㄤ श कम
ोशकोऺत अ�ॡोभोㄤ

Less developed mesocarp and well developed endocarp/ कम ोशकोऺत म ोभोㄤ श
ोशकोऺत अ�ॡोभोㄤ

Edicarp and Endocarp/बॊ옳 ोभोㄤ श अ�ॡ ोभोㄤ

Correct Answer :­Less developed mesocarp and well developed endocarp/ कम ोशकोऺत
म ोभोㄤ श ोशकोऺत अ�ॡोभोㄤ 

48)

Question Stimulus :­

Which form trans­membrane pores in bacterial cell?/ कग़नऺॊ जीशॊणॏ कोोषकॊ म瀀 ोझٿी के आर­
पॊर छेद करतॊ ऻॖ?

NK cell/NK कोोषकॊ

Complementary system/ कॊ⼳लीमे脐री तॠḀ

B–lymphocyte/B­ोलഇफोऺॊइट

NK cell and Complementary system both/ NK कोोषकॊ एशॠ कॊ⼳लीमे脐री तॠḀ दोनो ॠ

Correct Answer :­NK cell and Complementary system both/ NK कोोषकॊ एशॠ कॊ⼳लीमे脐री
तॠḀ दोनो ॠ 

49)

Question Stimulus :­

In Penicum & Chloris type of C4 plants the 4C acid transported in bundle sheath
cells from mesophyll cells is:/ Penicum श Chloris कॊर के C4 पॊदपो ॠ कॊ 4C अ帆 ोजऺकॊ
☧थॊॠतरण पण砆मोㄤक कोोषकॊओॠ ऺे पॐलॊƸद कोोषकॊओॠ म瀀 ऻोतॊ ऻॖ:



Malate/मेलेट

Oxaloacetate/ऑসेलोएऺीटेट

Aspartate/ए᐀ॊरटेट

Succinate/ऺসीनेट

Correct Answer :­Malate/मेलेट 

50)

Question Stimulus :­

Amino acid sequence in protein synthesis is decided by:/ ोटीन  ॠऺेहण म瀀 अमीनो अ帆ोॠ कॊ
ᔁम ोकऺके ㌑ॊरॊ ोनधॊ砆瀀रत ोकयॊ जॊतॊ ऻॖ?

r­RNA

t ­ RNA

m – RNA

Sn – RNA

Correct Answer :­m – RNA 

Topic:­ Zoology
1)

Question Stimulus :­

During respiration CO2 is transported in the form of:/ ᗀऺन म瀀 CO2 कॊ प瀀रशऻन ोकऺ ㌯प म瀀 ऻोतॊ
ऻॖ?

Dissolved plasma/घॏलनषील ㌯प म瀀 ̀ॊ৷ॊ म瀀

Sodium carbonate/ऺोोडयम कॊब遐नेट

KHCO3

Partly dissolved in plasma and partly in the form of sodium and potassium
bicarbonate/ आॠोषक ㌯प ऺे ̀ॊ৷ॊ म瀀 घॏलनषील तथॊ आॠोषक Na तथॊ K बॊईकॊब遐नेट के ㌯प म瀀

Correct Answer :­Partly dissolved in plasma and partly in the form of sodium and
potassium bicarbonate/ आॠोषक ㌯प ऺे ̀ॊ৷ॊ म瀀 घॏलनषील तथॊ आॠोषक Na तथॊ K बॊईकॊब遐नेट के ㌯प
म瀀 

2)



Question Stimulus :­

Granules of NK cell are:/ NK कोोषकॊ के कण ऻ偀:

Perforin/ परफो瀀रन

Protease/ोोटयेज

Granulozyme/ᙐेनॏलोजॊइम

All the above/उपरो煬 ऺभी

Correct Answer :­All the above/उपरो煬 ऺभी 

3)

Question Stimulus :­

Use of incinerators is crucial to disposal of:/ोकऺके ोनĦॊरण के ोलए इनोऺनरेट 砆ऺ कॊ उपयोग ज㌯री
ऻॖ?

Nuclear waste/नॊोभकीय कचरॊ

Waste which is produced by thermal power plant/ तॊपीय ोशद्यॏ त ग॑ऻ म瀀 उ✀p कचरॊ

Hospital waste/ अ᐀तॊल कॊ कचरॊ

Agricultural waste/ क॑ोह कचरॊ

Correct Answer :­Hospital waste/ अ᐀तॊल कॊ कचरॊ 

4)

Question Stimulus :­

Under unhygienic condition a child has taken some food on which flies were sitting.
What is the most probable infection the child is likely to get?/ एक बだे ने ĉƸतॊ कॊ ॊन
नऻी ॠ रखते ᄃए म∰ी बॖठे खॊĒ पदॊथ砆 को ᙐऻण कर ोलयॊ ऻॖ। बだे को ोकऺ ऺे  ॠऺᔁमण की  ॠऺभॊशनॊ ऻॖ?

Plasmodium/̀ॊ৷ोोडयम ऺे

Leishmania/लेषमॊोनयॊ ऺे

Ascaris/ए☂े瀀रऺ ऺे

Trypanosoma/ट턅 ॊईपेनोऺोमॊ ऺे

Correct Answer :­Ascaris/ए☂े瀀रऺ ऺे 



5)

Question Stimulus :­

In ecosystem services includes:/ पॊ瀀र聰☧थोतकी तॠḀ ऺेशॊ म瀀 ऺ聰몽ोलत ऻॖ

(a)   Provide wild life habitat/ श㌯जीश आशॊऺ उपल렇 करॊनॊ

(b)   Maintain biodiversity/ उपजॊऊ म॑दॊ उ✀p करनॊ

(c)   Generate fertile soil/ जॖशोशोशधतॊ बनॊये रखनॊ

(d)   Pollinate crops/ फऺलोॠ कॊ परॊगण

(e)   Provide storage site for carbon/ कॊब砆न  ॠऺᙐऻण के ोलए ☧थॊन उपल렇 करॊनॊ

Only a, c & e/ केशल a, c और e

Only a & c/ केशल a और c

Only b, d & e/ केशल b, d और e

a, b, c, d & e/ a, b, c, d और e

Correct Answer :­a, b, c, d & e/ a, b, c, d और e 

6)

Question Stimulus :­

The mucous in the nose is secreted in response to odoureferous substances by:/  ॐऺँघने
शॊले पदॊथ遐 के ोलए नॊक म瀀 े┃ॊ कॊ Ąॊशण ऻोतॊ ऻॖ:

Lacrymal gland/लेᔁॊइमल ᙐ聰̀ ㌑ॊरॊ

Olfactory gland/औӐᜋेķ턅 ी ᙐ聰̀ ㌑ॊरॊ

Bowman's glands/बॊउमन ᙐ聰̀ ㌑ॊरॊ

Salivary gland/लॊर ᙐ聰̀ ㌑ॊरॊ

Correct Answer :­Bowman's glands/बॊउमन ᙐ聰̀ ㌑ॊरॊ 

7)

Question Stimulus :­

Blood platelets are:/ ꐂड  ̀ेटलेट्ऺ ऻ偀:

Denucleated/ोबनॊ के㈀क के



Nucleated/के㈀क यॏ煬

Bilobled nucleus structure/ो㌑पॊली के㈀कीय  ॠऺरचनॊ

Multilobed nucleus structure/बᄃपॊली के㈀कीय  ॠऺरचनॊ

Correct Answer :­Denucleated/ोबनॊ के㈀क के 

8)

Question Stimulus :­

Which of following is excitatory neurotransmitter?/ ोन㤁 म瀀 ऺे कग़न­ऺॊ ㌯ॐरोट턅 ॊॠऺमीटर उㄤेोजत
करतॊ ऻॖ?

GABA/गॊबॊ

Glycine/뷾ॊयोऺन

Glutamic acid/ 뷾ॐटेोमक अ帆

Dopamine/डोपमॊइन

Correct Answer :­Glutamic acid/ 뷾ॐटेोमक अ帆 

9)

Question Stimulus :­

True Coelome is between:/ ऺƴ ऺीलोम (Coelome) ोकऺके म ऻोती ऻॖ?

Ectoderm & endoderm/ एķोडम砆 (Ectoderm) श एॠ डोडम砆 (endoderm)

Primary and secondary mesoderm/ ॊथोमक श ो㌑तीयक मीऺोडम砆 (mesoderm)

Two layers of primary mesoderm/ ॊथोमक मीऺोडम砆 (mesoderm) की दो परतो ॠ के बीच

Two layers of secondary mesoderm/ ो㌑तीयक मीऺोडम砆 (mesoderm) की दो परतो ॠ के बीच

Correct Answer :­Two layers of secondary mesoderm/ ो㌑तीयक मीऺोडम砆 (mesoderm) की
दो परतो ॠ के बीच 

10)

Question Stimulus :­

Contribution of methane in total global warming is:/शॖोᗀक उ┃ॊयन म瀀 मीथेन कॊ योगदॊन ोकतनॊ
ऻॖ:

10% 



80%

50%

20%

Correct Answer :­20% 

11)

Question Stimulus :­

Which type of memory cell is absent in human?/ ोकऺ कॊर की ᄠ॑ोत कोोषकॊऐॠ मॊनश म瀀
अनॏप聰☧थत ऻोती ऻॖ?

T­helper memory cell/T­ ऻेᄐर ᄠ॑ोत कोोषकॊ

T­killer memory cell or TM cell/T­ोकलर ᄠ॑ोत कोोषकॊ यॊ TM कोोषकॊ

B–memory cell/B­ᄠ॑ोत कोोषकॊ

None of above/उपरो煬 म瀀 ऺे कोई नऻी ॠ

Correct Answer :­None of above/उपरो煬 म瀀 ऺे कोई नऻी ॠ 

12)

Question Stimulus :­

Monoclonal antibodies are produced by hybrid cell called hybridoma. The cell employed
to obtain these hybrid cells are:/ मोनोोनल ए聰脐बॗडी,  ॠऺकर कोोषकॊऐॠ ोजऺे ऻॊइो᠙डोमॊ कऻॊ जॊतॊ
ऻॖ, ऺे उ✀p ऻोती ऻॖ। इऺ  ॠऺकर कोोषकॊऐॠ ॊᙐ करने के ोलए कोोषकॊऐॠ उपयोग की जॊती ऻॖ:

B–cells and Myeloma cell/B­कोोषकॊऐॠ एशॠ मॊइलोमॊ कोोषकॊऐॠ

T–cell and Myeloma cell/T­कोोषकॊऐॠ एशॠ मॊइलोमॊ कोोषकॊऐॠ

B–Lymphocyte and Carcinoma cell/B­ ोलഇफोऺॊइट एशॠ कॊो 砆ऺनोमॊ कोोषकॊऐॠ

Lymphoma and Bone marrow cell/ोलഇफोमॊ एशॠ अ聰☧थ म؁ॊ कोोषकॊऐॠ

Correct Answer :­B–cells and Myeloma cell/B­कोोषकॊऐॠ एशॠ मॊइलोमॊ कोोषकॊऐॠ 

13)

Question Stimulus :­

Phlebotomus is a vector for:/ �ीबोटोमऺ एक शॊऻक ऻॖ

Trypanosoma gambience/ट턅 ॊईपेनॊऺोमॊ गे聰ᐁयन कॊ



Giardia intestinalis/ ोजआरडीयॊ इनटेƸॊइनेोलऺ कॊ

Leishmania donovani/ लेषमॊोनयॊ डोनोशॊनी कॊ

Trichomonas/ ट턅 ॊइकोमोनॊऺ कॊ

Correct Answer :­Leishmania donovani/ लेषमॊोनयॊ डोनोशॊनी कॊ 

14)

Question Stimulus :­

"Sertoli cells" in human testis are found in:/ मनॏ5 के श॑हण म瀀 "ऺरटोली कोोषकॊएँ" पॊई जॊती ऻ偀:

Seminiferous tubules/ ऺेमीनीफेरऺ नोलकॊओॠ म瀀

Leydig cells/ लीोडग कोोषकॊओॠ म瀀

Outside the seminiferous tubules/ ऺेमीनीफेरऺ नोलकॊओॠ के बॊऻर की ओर

None of these/ इनम瀀 ऺे कोई नऻी ॠ

Correct Answer :­Seminiferous tubules/ ऺेमीनीफेरऺ नोलकॊओॠ म瀀 

15)

Question Stimulus :­

Neodarwinism is:/नशडॊोश砆नशॊद ऻॖ

Lamarckism and Darwinism/ लेमॊक砆 शॊद श डॊोश砆नशॊद

Lamarckism and mutation/ लेमॊक砆 शॊद श उ✀瀀रशत砆न

Lamarckism, natural selection and mutation only/ केशल लॊमॊक砆 शॊद, ॊक॑ोतक शरण एशॠ
उ✀瀀रशत砆न

Darwinism, natural selection and mutation/ डॊोश砆नशॊद, ॊक॑ोतक शरण एशॠ उ✀瀀रशत砆न

Correct Answer :­Darwinism, natural selection and mutation/ डॊोश砆नशॊद, ॊक॑ोतक शरण एशॠ
उ✀瀀रशत砆न 

16)

Question Stimulus :­

Holometabolous type of metamorphosis is found in:/ ऻोलोमेटॊबोलऺ कॊर कॊ कॊयॊ�रण पॊयॊ
जॊतॊ ऻॖ



Dragon fly/ ड턅 ेगन �ॊई म瀀

Silver fish/ ोऺ䁠र ोफष म瀀

Mosquito/ मƸर म瀀

None on the above/ उपरो煬 म瀀 ऺे कोई नऻी ॠ

Correct Answer :­Mosquito/ मƸर म瀀 

17)

Question Stimulus :­

Virus which is responsible for AIDS is:/ एड्ऺ के ोलये उㄤरदॊयी ोशहॊणॏ ऻॖ:

H.B.V.

H.I.V.

R.S.V.

All the above/ उपरो煬 ऺभी

Correct Answer :­H.I.V. 

18)

Question Stimulus :­

Animals have shorter and smaller body extremities in colder area, it is:/ ठॠ डे 瀐ेḀो ॠ म瀀 ज�ॏओॠ
के षरीर उपॊॠग छोटे ऻोते ऻ偀, यऻ ऻॖ:

Allen’s law/ ऐलेन कॊ ोनयम

Cope’s law/ को䴁 कॊ ोनयम

Doller’s law/डॊलर कॊ ोनयम

Bergman’s law/बग砆मॊन कॊ ोनयम

Correct Answer :­Allen’s law/ ऐलेन कॊ ोनयम 

19)

Question Stimulus :­

Which is strongest opsonin:/ोन㤁 म瀀 ऺबऺे ष聰煬षॊली ओ䴁ोोनन ऻॖ:

Bacteria/जीशॊणॏ



IgG

IgM

Macrophage/ भ瀐ॊणॏ

Correct Answer :­IgM 

20)

Question Stimulus :­

Haudoti region of Rajasthan is most suitable for the soyabean croping as:/ रॊज☧थॊन कॊ
ऻॊडग़ती 瀐ेḀ, ऺोयॊोबन की फऺल के ोलए ऺशॊ砆ोधक अनॏकॐ ल ऻॖ ⠀ोॠोक:

Farmers are hardworking and advance/ ोकऺॊन बᄃत मेऻनती ऻॖ श आधॏोनक ऻॖ

High rain fall in comparison to rest of Rajasthan/ षेह रॊज☧थॊन की तॏलनॊ म瀀 उだ शहॊ砆

Soil is rich in Rhizobium/ म॑दॊ म瀀 रॊइजोोबयम की चॏरतॊ ऻॖ

Easy availability of Nitrogenous fertilizers due to Chambal Fertilizers Factory in
Anta/ अॠतॊ म瀀 चᐁल फोट砆लॊइजर फॖķ턅 ी के कॊरण नॊइट턅 ोजनी उश砆रको ॠ की आऺॊन उपल렇तॊ

Correct Answer :­Soil is rich in Rhizobium/ म॑दॊ म瀀 रॊइजोोबयम की चॏरतॊ ऻॖ 

21)

Question Stimulus :­

Choose the incorrect match of the following:/ ोन㤁 म瀀 ऺे अऺƴ यॏ㌖ कॊ चॏनॊश कर瀀 :

Abies balsemia – Canada balsum/ ऐोबऺ बॊलऺेोमयॊ ­ कनॊडॊ बॊलऺम

Cedrus – Cedar wood oil/ोऺड턅 ऺ ­ ोऺडर शॏड तेल

Pinus roxburghii – Chirpine/पॊइनऺ रॊসबग५ ­ ोचरपॊइन

Ginkgo biloba – Maiden hair tree/ ोग̢गो शॊइलोबॊ ­ मेोडन ऻॖयर श॑瀐

Correct Answer :­Cedrus – Cedar wood oil/ोऺड턅 ऺ ­ ोऺडर शॏड तेल 

22)

Question Stimulus :­

A.P.C. is:/ए.पी.ऺी. ऻॖ:

Macrophage/ मेᔁोफेज



Langerhans cell/ ल偀गरऻे℁ कोोषकॊ

B–cell/B­ कोोषकॊ

All the above/ उपरो煬 ऺभी

Correct Answer :­All the above/ उपरो煬 ऺभी 

23)

Question Stimulus :­

Steller's sea cow and passenger pigeon were extinct due to:/ Ƹॖलर ऺमॏጀी गॊय तथॊ शॊऻक
कबॐतर लॏᙐ ऻो गये ऻ偀:

Habitat loss by human/ मॊनश ㌑ॊरॊ आशॊऺ 㼿ॊऺ के कॊरण

Over exploitation by human/ मॊनश ㌑ॊरॊ अƴोधक दोऻन के कॊरण

Introduction of alien species/ ोशदेषज जॊोतयो ॠ के कॊरण

Co­extinction/ऺऻोशलॏᙐन के कॊरण

Correct Answer :­Over exploitation by human/ मॊनश ㌑ॊरॊ अƴोधक दोऻन के कॊरण 

24)

Question Stimulus :­

Knock­knee disease is due to:/ नोक­नी रोग ोकऺके कॊरण ऻोतॊ ऻॖ?

Flouride/�ोरॊइड

Mercury/मक砆 री

Lead/ लेड

Chlorine/ोरीन

Correct Answer :­Flouride/�ोरॊइड 

25)

Question Stimulus :­

Montreal protocol was effective in:/ मोनेोट턅यल ोटोकॊल कब भॊश म瀀 आयॊ:

1987

1992



1989

1986

Correct Answer :­1989 

26)

Question Stimulus :­

Birds specially chicken grown for meat only known as:/पो瀐यो ॠ को (ोशोष꤀ॡ ोचकन) केशल उनके
मॊऺ ऻेतॏ ोशकोऺत ोकयॊ जॊनॊ कऻलॊतॊ ऻॖ:

Hybrid/ ॠऺकरण

Broiler/᠙ोइलर

Bird management/प瀐ी ब偀न

Bird culture/प瀐ी  ॠऺशध砆न

Correct Answer :­Broiler/᠙ोइलर 

27)

Question Stimulus :­

A taxonomic category refers to:/ शग५की ਑ेणी ऺᐁ聰偀त ऻॖ

Concrete biological objects in group/ ऺमॐऻ के जॖोशक Ħᄐ ऺे

A rank or level in a taxonomic hierarchy/शग५की पदॊनॏᔁम म瀀 एक Ħर यॊ पद

A group of related organism able to interbreed/ ऺᐁ聰偀त ऺजीशो ॠ कॊ ऺमॐऻ जो अ�ॡजनन म瀀
ऺ瀐म ऻो

A group of related organism but unable to interbreed freely/ ऺᐁ聰偀त ऺजीशो ॠ कॊ ऺमॐऻ
जो अ�ॡजनन म瀀 ऺ瀐म न ऻो

Correct Answer :­A rank or level in a taxonomic hierarchy/शग५की पदॊनॏᔁम म瀀 एक Ħर यॊ पद 

28)

Question Stimulus :­

In distal convoluted tubule of the nephrons:/ नेᜋोन के दॐ र☧थ  ॠऺशोलत नोलकॊ म瀀:

Sodium reabsorption requires energy/ ऺोोडयम के पॏनॡअशषोहण म瀀 ऊजॊ砆 आश퀂क ऻोती ऻॖ

Secretion of K ions does not require energy/ पोटेोषयम के Ąॊशण म瀀 ऊजॊ砆 की आश퀂कतॊ नऻी ॠ



ऻोती ऻॖ

Water reabsorption requires energy/ जल पॏनॡअशषोहण म瀀 ऊजॊ砆 आश퀂क ऻोती ऻॖ

Ammonia is secreted/ अमोोनयॊ कॊ Ąॊशण ऻोतॊ ऻॖ

Correct Answer :­Sodium reabsorption requires energy/ ऺोोडयम के पॏनॡअशषोहण म瀀 ऊजॊ砆
आश퀂क ऻोती ऻॖ 

29)

Question Stimulus :­

In fishes the teeth are of:/ मछोलयो ॠ म瀀 द� पॊये जॊते ऻ偀:

Acrodont type/एᔁोडो脐

Thecodont type/थोकोडो脐

Heterodont type/ऻेट턅 ोडो脐

Pleurodont type/ ॐ̀रोडो脐

Correct Answer :­Acrodont type/एᔁोडो脐 

30)

Question Stimulus :­

Ab which are present on the surface of B­lymphocyte are:/ AB जोोक B­ोलഇफोऺॊइट की ऺतऻ
पर उप聰☧थत ऻोती ऻॖ, शऻ ऻ偀:

IgG, IgM

IgD, IgM

IgA, IgD

IgD

Correct Answer :­IgD, IgM 

31)

Question Stimulus :­

Pannus are related to:/पेनऺ ऺᐁ聰偀त ऻॖ

Pernicious anemia/परोनोषयऺ एोनोमयॊ



Rheumatoid disease/रएमेटोइड रोग

I.P.D.M.

S.C.I.D.

Correct Answer :­Rheumatoid disease/रएमेटोइड रोग 

32)

Question Stimulus :­

Sickel­cell­anaemia helps in prevention of which disease?/ ऺीकल­ऺेल­एनीमीयॊ कग़नऺे रोग को
रोकने म瀀 ऺऻॊयक ऻॖ?

Haemophilia/ऻीमोफीलीयॊ

Malaria/ मले瀀रयॊ

Anaemia/एनीमीयॊ

Thalasaemia/थेलेऺीमीयॊ

Correct Answer :­Malaria/ मले瀀रयॊ 

33)

Question Stimulus :­

Which one of the following gland is structurally saccular gland?/ ोन㤁 म瀀 ऺे कग़नऺी ᙐ聰̀
ॠऺरचनॊ के आधॊर पर कॐ ोपकॊकॊर ᙐ聰̀ ऻॖ?

Sweat gland/ĉेद ᙐ聰̀

Crypt of lieberkuhn/ोᔁ आफ लॊइबरकॏ ऻन

Gastric gland/जठर ᙐ聰̀

Sebaceous gland/ोऺबेोषयऺ ᙐ聰̀

Correct Answer :­Sebaceous gland/ोऺबेोषयऺ ᙐ聰̀ 

34)

Question Stimulus :­

Sex of 3A + XXY genotype Drosophila is:/ 3A + XXY जीनोटॊइप शॊली ड턅 ोऺोोफलॊ कॊ ोलॠग ऻोगॊ:

Male/नर



Female/मॊदॊ

Intersex/मोलॠगी

Meta male/अोध नर

Correct Answer :­Intersex/मोलॠगी 

35)

Question Stimulus :­

Absence of head, unsegment body and endoskeleton of calcareous plate is the
characters of:/ ोऺर की अनॏप聰☧थोत, अख聰ሳत षरीर श आ�瀀रक कॠ कॊल के聰Ӑषयम ̀ेट अोभलॊ瀐ोणक ऻॖ:

Mollusca/मग़ल☂ॊ कॊ

Arthropoda/आथ遐पग़डॊ कॊ

Echinodermata/ईकॊईनोडम㈀टॊ कॊ

None of the above/उपरो煬 म瀀 कोई नऻी ॠ

Correct Answer :­Echinodermata/ईकॊईनोडम㈀टॊ कॊ 

36)

Question Stimulus :­

Which one of the following is not a digenetic creature?/ ोन㤁 म瀀 ऺे कग़नऺॊ ज�ॏ ो㌑पोहदीय नऻी ॠ ऻॖ?

Plasmodium ovale/̀ॊजमोोडयम आशेल

Taenia solium/ टीोनयॊ ऺोोलयम

Entamoeba histolytica/ ए脐अमीबॊ ोऻƸोलॊइटॊ

Trypanosoma gambience/ ट턅 ॊईपेनोऺोमॊ गेᐁीय℁

Correct Answer :­Entamoeba histolytica/ ए脐अमीबॊ ोऻƸोलॊइटॊ 

37)

Question Stimulus :­

Oviparous animals are:/ अሳयॏज जॠतॏ ऻॖ:

Prototherians/ोटोथी瀀रय℁

Aves/ प瀐ी



Eutherians/यॐथी瀀रय℁

All of the above/उपरो煬 ऺभी

Correct Answer :­Aves/ प瀐ी 

38)

Question Stimulus :­

DNA test cannot be prepared from:/DNA टेƸ ोन㤁 ऺे नऻी ॠ ऻो ऺकतॊ:

Sperm/षॏᔁॊणॏ

White blood cells/ᗀेत र煬 कोणकॊएँ

Red blood cells/लॊल र煬 कोणकॊएँ

Inner lining of cheek/ गॊल की आ�瀀रक परत

Correct Answer :­Red blood cells/लॊल र煬 कोणकॊएँ 

39)

Question Stimulus :­

Match the following:/ ॏऺमेोलत कीोजये:

  Bone/ अ�̾थ        Number/
संূॊ

(A) Skull/
खोपड़ॎ      (1) 24

(B) Vertebrae/
कषॕॺकॊय७ (2) 60

(C) Ribs/ पसोलयॊँ (3) 29
(D) Sternum/ ːन१म (4) 1

(E)
Pectrol
girdles/
अंसमॕखलॊ  

(5) 2

(F) Arms/ भॏजॊय७ (6) 4

(G) Ear ossicles/
कण१ अ�̾थकॊय७ (7) 6

(H)
Pelvic girdles/
঒ोणॎ
मॕखलॊ        

(8) 33



The correct pairing sequence is:/ ऺऻी यॏ㌖न ᔁम ऻॖ:

8, 3, 1, 4, 6, 2, 5, 7

3, 8, 1, 4, 6, 2, 7, 5

3, 8, 1, 4, 2, 6, 7, 5

None of the above/ उपरो煬 म瀀 ऺे कोई नऻी ॠ

Correct Answer :­3, 8, 1, 4, 6, 2, 7, 5 

40)

Question Stimulus :­

The breeding place of Flamings (Hansawar) in India is most likely:/ �ेोमगो ॠ (ऻॠऺॊशर) कॊ
भॊरत म瀀 मॏ젂 जनन 瀐ेḀ ऻॖ:

Sambhar lake/ ऺॊॠभर झील

Chilka lake/ ोचलकॊ झील

Rann of Kutch/ कƸ कॊ मॖदॊन

Ghana vihar/ घॊनॊ ोशऻॊर

Correct Answer :­Chilka lake/ ोचलकॊ झील 

41)

Question Stimulus :­

Who among the following established the scientific basis of vaccination:/ ोन㤁 म瀀 ऺे ोकऺने
टीकॊकरण कॊ शॖ腒ॊोनक आधॊर ोऺ䀐 ोकयॊ?

Von Behring/ शॊन बेऻ瀀रॠग

Louis Pasture/ लॏइऺ पॊ⼹र

Edward Jenner/ एडशड砆 जेनर

George Kohler/ जॊज砆 कोऻलर

Correct Answer :­Louis Pasture/ लॏइऺ पॊ⼹र 

42)

Question Stimulus :­



Organism occupy a specific place in food chain based on the source of their nutrition or
food or their feeding relationship with other organism, is called:/ पोहण यॊ भोजन यॊ अ㌯
जीशो ॠ के ऺॊथ खॊĒ ऺᐁ偀ोॠ के आधॊर पर ƴेक जीश कॊ खॊĒ ਑॑ॠखलॊ म瀀 ोशोष꤀ ☧थॊन ऻोतॊ ऻॖ। ोजऺे कऻते ऻ偀:

Ecological pyramid/पॊ瀀र聰☧थोतकी Ħॐप

Ecology niche/पॊ瀀र聰☧थोतकी ोनशॊऺ

Trophic level/पोहक Ħर

Habitat/आशॊऺ

Correct Answer :­Trophic level/पोहक Ħर 

43)

Question Stimulus :­

Which one of the following, is present in the integument of frog, but not in mammals?/
ोन㤁ोल聰खत म瀀 ऺे कग़नऺी रचनॊ म瀀ुक की ᅝचॊ म瀀 ोमलती ऻॖ ोक�ॏ Ħोन म瀀 नऻी ॠ?

Dermis/चम砆

Malpighian layer/मॖᄐीोघयन Ħर

Mucous glands/े┃ ᙐ聰̀

Sebaceous glands/अ਑ॏ ᙐ聰̀

Correct Answer :­Mucous glands/े┃ ᙐ聰̀ 

44)

Question Stimulus :­

Gene therapy is related to:/ जीन थॖरेपी ोकऺ ऺे ऺᐁ聰偀त ऻॖ?

Opsonisation/ओपऺोनॊइजेषन

M.A.B./एम.ए.बी.

Second generation vaccine/ो㌑तीयक पीुी कॊ टीकॊ

Third generation vaccine/त॑तीय पीुी कॊ टीकॊ

Correct Answer :­Third generation vaccine/त॑तीय पीुी कॊ टीकॊ 

45)

Question Stimulus :­



Heterocyst is:/ ऻेटेरोोऺƸ ऻॖ:

A weakest link in trichome/ट턅 ॊइकोम (त�ॏ) म瀀 कमजोर कीी

A strongest link in trichome/ट턅 ॊइकोम (त�ॏ) म瀀 मजबॐत कीी

A strong link in some trichome/कॏ छ ट턅 ॊइकोम (त�ॏ) म瀀  मजबॐत कीी

No link at all/कोई कीी नऻी ॠ

Correct Answer :­A weakest link in trichome/ट턅 ॊइकोम (त�ॏ) म瀀 कमजोर कीी 

46)

Question Stimulus :­

Cords of billroth are blood spaces which are found in which of the followings?/ोबलरग़थ के
र؁ॏ, ㌯ोधर ☧थल (Blood spaces) ऻोते ऻ偀 जो ोन㤁 म瀀 ऺे ोकऺ म瀀 पॊये जॊते ऻ偀?

Liver/यक॑त म瀀

Kidneys/श॑∣ोॠ म瀀

Spleen/̀ीऻॊ म瀀

Tonsils/टॊ聰℁㈀ म瀀

Correct Answer :­Spleen/̀ीऻॊ म瀀 

47)

Question Stimulus :­

Pyrogens are:/ पॊएरोजन ऻॖ:

Bacterial toxin/जीशॊणॏ ोशह

Interleukin/इ脐र颐ॐोकन

Prostaglandin/ोƸॊ뷾ेडीन

All the above/ उपरो煬 ऺभी

Correct Answer :­All the above/ उपरो煬 ऺभी 

48)

Question Stimulus :­

Which drug you will prescribe a person suffering from pyrexia?/ एक 遐聰煬 बॏखॊर ऺे पीोीत ऻॖ



तो कग़नऺी दशॊ दोगे?

Aspirin/ए聰됀न

Cetrizine/ोऺोट턅जीन

Alprazolam/एӐॊजोलॊम

Paracetamol/पेरॊोऺटॊमोल

Correct Answer :­Paracetamol/पेरॊोऺटॊमोल 

49)

Question Stimulus :­

The condition of maturation of anther and stigma of same flower simultaneously is
called:/एक पॏƸ के परॊगकोह तथॊ शोत砆कॊᙐ कॊ ऺॊथ­ऺॊथ प瀀रप䀀 ऻोने शॊली 聰☧थोत को कऻते ऻ偀

Geitonogamy/जीटोनोगेमी

Xenogamy/जीनोगेमी

Allogamy/एलोगेमी

Homogamy/ऺमकॊल प瀀रप䀀तॊ

Correct Answer :­Homogamy/ऺमकॊल प瀀रप䀀तॊ 

50)

Question Stimulus :­

Modern synthetic theory of evolution involves:/उो㌑कॊऺ के आधॏोनक  ॠऺेहणॊ쀀क ोऺ䀐ॊॠत म瀀
ऺ聰몽ोलत ऻॖ:

Natural selection/ॊक॑ोतक शरण

Genetic variations/जनोनक ोशोभpतॊऐॠ

Isolation/प॑थ∣रण

All the above/उपरो煬 ऺभी

Correct Answer :­All the above/उपरो煬 ऺभी 


